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8. No. of Question Paper : 2903 - '

Unique Paper Code  : 2034002003 it o : A’

Name of the Paper . Dystopian Writings -

Name of the Course : GE : English

- Semester _ :. i

Duration : 3 Hours | : : Maximum Marks : 90

(Write your Ro'ﬂl No. on the top immediately on receipi of this question paper.)
This question paper contains 2 parts. Both parts are compulsory.
Candidates have to answer all the questiqns in Part A and any three questions in Part B.
Questions in Part A carry 10 maﬂcs each and questions in Part B carry 20 marks each.
| Part A‘ |
1. Comment on Lionel Vemey’s relationship with Adrian.
Or
Discuss Evadne’s relationship with Lord Raymond.

2. How does the Time Traveller’s Victorian worldview frame his interpretations of the Eloi and
Morlocks ? To what extent does his perspective impose colonialist assumptions and biases

upon his observations of these future societies ?
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Or

How does the Time Traveller’s subjective lens shape the reader’s comprehension of the distant
future he encounters ? In what ways does his narration mediate our understanding of this

world ?
Write a short note on the significance of leisure with reference to Fahrenheit ;!51 ‘
Or
Write a short note on the Biblical allusions in Fahrenfzeir 451.
Part B

The apocalypse in The Last Man primarily affects human beings leaving the non-human world

intact. Examine Mary Shelley’s critique of human exceptionalism in light of this statement.
O.
How are various political ideologies represented in the novel ?

The Time Traveller’s reliance on scientific reasoning and empirical observation reflects Victorian
intellectual ideals. How does this approach both empower and restrict his comprehension of

the future world he explores ?
Or

In his depiction of a fisture moulded by unbridled capitalism and pervasive social inequity, how
does Wells critique the excesses of Victorian capitalism and the exploitation inherent to class
stratification ?
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Discuss the importance of memory and history in Fahrenheit 45].

Or
Fahrenheit 451 is a critique of anti-intellectualism in America in the 1950s. Do you agree ?
Discuss.
Discuss the characteristics of dystopian writing giving relevant examples from the texts that
you have read.

Or

Discuss the core features of dystopian literature. What purpose do you think it serves in

rehabilitating society ? Answer with respect to any fwo texts in the course.
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Instructions for Candidates

E I. Write your Roll No. on the top immediately on receipt
of this guestion paper.

21-': This paper consists of 8 questions.
3 Attempt any 5 questions.

4. All questions carry equal marks.

5. :E'Usc of simple calculator is allowed.

6. ;-:, Answers may be written either in English or Hindi;
‘but the same medium should be used throughout the

" baper.

=3 2 ' :




3150 2 3150 3
% W T g (Tadord) @ s sk R w
'R R A Ry T iR e o g e A e A e $ g e

ST feiftag aaie &) w4 uf el s @t qee A Rew @ e
2. TIRH g gy F, Haam 27

3 aﬁg’%ﬁsmmﬁn

(a) Describe the structural features of the developing

2
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3.

[
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a) W
(a) What do you understand by the term po'verty' line

estimation?
9)

(b) Th ' inti
) There is an intimate connection between povert:
Jerty

and undernutrition. Explain (9
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Answer [ ‘
the following and give suitable reasons :

(a) If a relati
elatively poor person transfers income to a
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always increases.
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(b) The income distribution of two societies A and B
with three 'f‘hdivibduals are as follows: A (3, 12, 15)

#
and B (4, 9, 17). Draw the Lorenz curves.

Compare and explain extent of income inequality

differences between two income distributions.
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5. (a) What do you understand by natural capital? What
Is 1ts significance in the context of sustainable

development?
. (4)
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(b) What are the possible reasons for global community
- _ S .
Lo choose a positive discount rate for their future

benefits?
(4)

(c) Briefly explain the five steps involved in the
measurement of sustainable development

(10)
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{ 6. !What'are the claims in favour of capability approach
to poverty? Do you agree that the capability approach
enhances the understanding of the nature and causes

of poverty. Explain. (18)

o B frg e gRed & wa F w TR TP w M
m%%amq&ﬁmﬁﬁaﬁuﬁaﬂtmﬁa%w_
FY wEE B AR He

7.  Explain the various strategies that may be adopted by
the developing countries in relation to their participation

in the global economy, given the challenges faced by

(18)

them.
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8.  How does globalization affect the poor in their roles
as self-employed, wage workers and users of public

service & common resources? Discuss. (18)
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SECTION A

Answer any two out of the three questions.

1. (a) Differentiate between Positive Economics and

Normative Economics using examples.

(b) Using the midpoint method calculate the cross-
price elasticity of demand between oranges and

wheat if the following information is given :

2916 3
SNo. Price of Oranges Quantity of Wheat
| 30 100
2 40 120
3 50 140

o]

Are oranges and wheat substitute goods or

complements? Give reasons for your answer.

(c) Explain the concept of efficiency with the help of
the production possibility frontier? (4,4,4)

Suppose we have the following market demand and

supply functions

Q,= 1000 —.2P

Qs = =100 “F N SP

(Qp = Quantity demanded, Q. = Quantity supplied,

P = Price)

(a) Solve for equilibrium P and Q. Calculate consumer
surplus and producer surplus at equilibrium. Draw

graphs to illustrate.

Now suppose that a tax of Rs. 50 per unit is
imposed by the government on the buyers.

PLT: 6
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(b) Solve for the new equilibrium P and Q.

(c) Explain the effect of tax in such a situation using
a diagram. (6,4,2)

3. (a) What is a Production Possibility Curve (PPC)?
Explain why under the usual assumptions, PPC is
bowed outward (concave to the origin). What will
be the shape of the PPC if the opportunity cost of

Good Y in terms of Good X is constant?

(b) It is observed that at the existing equilibrium,
demand is highly inelastic while the supply is highly
elastic. If the buyers have to pay a tax of Rs T
for each unit they buy, who will bear the higher
burden of tax: buyer or seller? Explain why.

(6,6)

SECTION B

Answer any two out of the three questions.

4. (a) With the help of a diagram explain whether the

following statement is true or false:

All Giffen goods are inferior goods but all inferior

goods are not Giffen goods.
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(b) Draw and explain the shapes of indifference curves
in case of

(i) Perfect Substitutes
(ii) Perfect Complements (8,4)
5. (a) Why is the supply curve of labour backward
bending? Explain with the help of a diagram.

(b) Suzy has 100 hours per week that she can devote
to working or enjoying leisure. Her hourly wage is
Rs.50.

(i) Draw her budget constraint.

(ii) What will happen to her budget line if her
wages increase to Rs 100 per hour.
(4,8)

6. (a) Define an indifference curve. Explain why two

indifference curves never intersect each other.

(b) Explain a budget constraint. How will a budget
constraint shift when

(i) the price of good X falls

(ii) the price of good Y increases

P.T.O.




2916 6

(iii) The money income of the consumer
increases. Explain how the shift affects the

slope of the budget line. (4,8)

SECTION C

Answer any two out of the three questions.

7. (a) A firm ABC is in equilibrium with marginal product
of labour, MP, = 5 and marginal product of capital,
MP, = 10 when price of labour, P, = 2 and price
of capital, P, = 4. Assume that Py increases to
P, =5. Should the firm continue with its present
technology of production or not? Explain your

answer.

(b) Explain how a producer chooses the least cost
technology to produce a given level of output
of any product. What is the role of relative prices

P /P, in making this decision? (6,6)

8. (a) What are the shapes of the AVC, ATC, AFC, and
MC curves? How are they related with each other?

Explain with the help of diagrams.
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10.

(b) What is the condition for profit maximization by a
firm in a perfectly competitive industry? Use

diagrams to explain your answer. (6,6)

(a) What is long-run competitive equilibrium? Explain
the process through which and industry achieves

long-run competitive equilibrium.

(b) What are the possible reasons for shift in the
industry supply curves in the long-run and in the

short-run? (6,6)

SECTION D

Answer any three out of the four questions.

(a) With the help of a diagram show that in case of
long run equilibrium of a competitive firm,

LAC=LMC=AR=MR.

(b) Derive the short-run supply curve of a firm under

a perfectly competitive market. (3,3)

PTG
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11.

12.

13.

Explain why in short run equilibrium of the perfectly
competitive firm, price is equal to marginal cost, while
in the long run equilibrium, price is equal to marginal

cost as well as average cost. (6)

With the help of a diagram show a firm earning super
normal profits, stating clearly the conditions of

equilibrium. (6)

Explain the shut-down point of a firm with the help of
a diagram. (6)
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Instructions for Candidates

1.

2
3.
4

Write your Roll No. on the top immediately on receipt of this question paper.
Attempt Any Five questions.

All questions carry equal marks.

Answers may be written either in English or Hindi but the same medium should
be followed throughout the paper.
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How did the nationalist approach differ from the imperialist approach? Discuss.
AT I ARSI STRH A fre weR e ar? fadeer St

What were the characteristics of reformist movements in 19th-century India and
how did they provide the basis for mass mobilization in the nationalist movement?
Analyse.

1of TR B R ¥ qURATS e E R e A R IR g sdre
THeEES & fo fFe weR R wer fRar? fagener Fifei

What were the key differences in the perspectives of the extremists and the
moderates within the Indian National Congress? How did they contribute to the
freedom struggle? Examine.

BT O.
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10.

ﬂnﬁﬂﬂ@um%ﬁmmﬁaﬂﬁsﬁtm@qﬁaﬁﬁ%ﬁﬂw R @ A7 IR
e g ¥ frE weR aner fear? Qe g
What were the key tactics used by Gandhi in the Non-Cooperation and Civil

Disobedience movements? How was he successful in turning them into mass
movements? Analyse.

a3 afaea as e A W g s e ol @ K7 4 3
S S ¥ T A 9 awe gy 7 fawerr A

Analyse the role of socio-cultural organisations in the freedom struggle in India.
A 3 A W ¥ A - A s siferert a1 fargeror o

What were the impacts of the peasant movements on the nationalist movement in
India? Discuss.

mﬁwﬁa@mwwmmwmm? feaam =il

What were the key differences between Jyotiba Phule's and Ambedkar's
approaches to the caste reforms? How did they address the caste question in the
freedom movement? Examine.

Sy g & wie e Ee 3 ETET @ gRewI & S e SR F 7 I
LSEER sraverT 3 R & vt @ fRe W wefer faa? qQequr Sl

Analyse the significant contributions of women to the Indian National Movement
with reference to the Non-Cooperation Movement and the Quit India Movement.
sEEd AT AR R B i & T ¥ R T A § AR T
FEeaqt ARTEr T fagerr Ao ?

Discuss the role played by Sardar Vallabhbhai Patel in integrating states in India.
Wﬁuﬁﬁqﬁﬁﬁmﬁﬁwaﬁnﬂﬁuﬁamﬁwﬁw& wifererr @ faEeET
EaiEid

Write short notes on Any Two of the following:
Prafafag & @ feedl @ w g o fafee
(a) Marxist Approach to study of Nationalism in India
TR ¥ TCAE B FAAT & A ST
(b) Two-nations theory
fg-wee e
(¢c) Quit India Movement
WRA BIel e
(d) Tribal Movements in pre-independent India

s - AR ¥ ST S (3000)
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BE @ fog BEw

| -9 @ fen § oW Ry e Fuie e oS
I foriay |

st dfer wee & IR AR |

sft T & 3 qH B

gﬂmﬁmﬁmaﬁuﬁhﬁmﬁﬁﬂ%ﬁmﬁmmﬁ@ﬁméﬁﬁ
TR IR T AN U B B ey |

Define public policy and explain the characteristics
with relevant examples.
ar Sy Fr uenRE wt SR wERe Sl @
fRwma & =men
Examine the determinants of public policy and their

significance.

A Sy & P 3k S9% Wew @ TOEv HIe |

Inclusive development is reflected through public
policies. Discuss the socio-economic impact of public
policies in India in the light of this statement.

am%ﬁﬁhmrw#ﬁ#ﬁﬁﬁﬁf%1mnq%1ﬁﬁ%a€mr%
Eammﬁ%m@mﬁ%maﬁﬁhﬁﬁ%ﬁ%amﬁm—mﬁa
gqg @ T @)l

3191 3

Discuss any three major theoretical approaches for

public policy formulation.

S S fir @ g Bt S v Agifos giemml A
= W

Explain the process of public policy formulation with
relevant examples for each stage.

e Sy B @ R @ vRE W & fog el
JeEOl & WU ARl F

Policy implementation is vital for good governance.

Analyze.
gmwtéfﬁzﬁﬁrmmhm#ﬂmagfﬁlﬁQWMaﬁ1

Public policy evaluation and analysis is an integral
part of policy formulation. Explain with suitable case

studies.

ﬁmﬁﬁ%gamﬁiﬁtﬁﬁwmﬁﬁ#ﬁﬁmanmfaﬁrwaﬁ
2 ST B AT B A |

Critically analyze the trajectory of the Mahatma Gandhi
National Rural Employment Guarantee Act
(MNREGA).

s T AT TR AR A SR () @
AT TN I AT AT
P.T.O.
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10.

Discuss the various policy initiatives on economic

empowerment presently under implementation in India.

R A 9Oa A FEEaT & d8d SYe quIieaEe W
fafs= At e w ==t =

Write short notes on Any Two of the following:
Fefafaa § ¥ feedl @t w e ot R
(a) Rational Choice Theory

qeand fawer fraa
(b) National Education Policy (NEP) 2020

ag fien Aifa (TEEd) 2020
(c) Group Theory

wiE faard
(d) National Health Mission (NHM)

T e e (THeEeH)

(700)
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2. mﬂmﬂﬁﬁm

3 m%mﬁwmmaﬁﬁm
4, Mmﬁ%ﬁw%’r

A - T IR 3
. B et var sy
mﬁwﬁmmwﬁmm@m o

approach to the development
management thoughts

of modernp
9)

(b) “Contingency Approach to

Mmanage 1S
common senge approach.’ ;S

" Comment, )

OR

(@) “The work of Taylor and F
complementary.” In the light
Compare the jdeas

ayol is essentially
of this statement
of Taylor ang Fayol. (9)
(b) “Mana i
e hgement Is the art of getting things d

" * A
gh other people. Discuss the Statement n{?

an

explain th with
i € concept of Mmanagement with ;
essential characteristics y IE:S
9)

2973 .

2.

(@) “wom & fow srnfed e v RS [T
afteenior 217 feoadt =ifse

£ 1)

(%) “¥eR o Bl T A S Y RE B
wUT H WEE H, oW AN BAA & frER A ge

Al

(@) “wEET S A @ oA A FE A w21
@ FUT W T FY AR wEE @t ﬁ
e T R B

(a) “To co-ordinate is to harmonise all the activities
of an organization in order to facilitate its working
and its success.” In the light of above statement,
explain the role of coordination in integrating the

)

various functions of management.

(b) What is division of labour? Discuss the advantages

©)

and disadvantages of Division of Labour.

OR

“To manage is to forecast and plan, to organize,
to command, to co-ordinate and to control.”
Comment on this statement by describing the

P.T.O.
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o p

(%) “w = o
2 5t wreT o

: oft TRfERE ¥

memaagﬁm:ﬁTmﬁ; Al @Tam;

A, e Emﬁmﬁ'"mwﬁ

w, T FE H e ey

aﬁ‘iﬁﬁﬂaﬁwaﬁﬁwl #

??wﬁqm
= e F S AR w

ar

({m
aﬁﬁmeraﬁ'%gﬁTmramm G L S —
T, FRE T, o i i

FEN YTGT T Fp R I S
WWWWWMWI T T

(a) “NO oF X /
an ]
e g : 1sation can achieve its objectives wi
matlc - s S Wlth
s ai planning. Elaborate this statem e
cuss the limitations of planni i
ne. 9)

decision- making? ationa]jty in

(€))

2973

(a) “Organisation structure refer
and integration
and relationships.’

5

OR

s to the differentiation

of activities and authority roles

> Explain any three types of
9)

organisational structures.

(b) “Planning is a process by which

to

action open to him.
discuss the steps involved in the planning

()

(=)

(=)

a manager looks

the future and discovers alternative courses of
» In the light of this statement,
process.

9)

“éﬁﬁﬁéﬁ&?amﬁmaﬁﬁawé%ﬁmsmﬁaéﬁhﬁ

mﬁrqﬁ‘mtaamn”gaismwaﬁiﬁeﬁﬁﬁﬁﬂ‘ﬁh

ﬁﬁﬁwﬁ%éﬁﬁﬁqtﬁiaﬁ1ﬁﬁW1

ﬁﬁu%%i¥3%$ﬁmré1ammmv%?mwm?ﬁ%m
fofa Y § EETad = qed wn E 7

B
i wEEAT Ater s it S S
FEel @ %ﬁmrﬁh‘@ﬁﬁmréﬁimﬁh'ﬁmﬁ‘%”
ﬁm&mmxaﬁmﬁﬁé%ﬁﬁtﬁrﬁwumﬁiﬁimam
il

o BE O
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(@) “ﬁﬁlﬁqwm%ﬁmﬁmwmwﬁwaﬁ
AR e aﬁtaa%ﬁqqaﬂﬁﬁaﬁ'%ﬁmﬁ‘w

WSTHA F @ T 2
ﬁmmﬁmwﬁwﬁaﬂﬁm

T FA Dy ¥

4. (a) What is motivation?

Explain the nature and
importance of motivation,

©)
(b) Define leadership. Discuss the differ

ent styles of
leadership.

(9)
OR

(a) Critically examine Herzberg’s Motivation Hygiene

Theory and Compare it with Maslow’s Need
Hierarchy Theory.

9)
(b) Explain the process of communication. Discuss

the significance of communication in business
organizations,

9)
(%) ﬁmm%?maﬂuﬁaﬂrmaﬁwaﬁ&m

(@) ﬁqﬁaﬁqﬁﬁwﬁaaﬁﬁmﬁwﬂﬁ&wﬁ%ﬁw
= @i

7
2973

=
. FAAEATHS
() o D W D ﬁi;f% ST T
Ay st A T
fergta & T

A
) e < s e A
4 o & wEe W T !

3 iness
1 in a busin
lain the importance B cfmtm' ciples of an
5. (a) Expla e, Discuss the main prin
enterprise.

9)
effective control system.

t in the 21st century requires aci:z:ir;z
kb embracing technology, and Sl
ok Chang?teams with empathy.” Explain e
. globha' hlighting the challenges -
5tﬂlwmen’tﬁ f;ie in today’s rapidly chang
manager

9)
i 2
business environment:
OR

following :

three of the i
Write short notes on any (6 marks each (6><3—18)]
(a) Organizing

(b)y W orkplace Diversity

(ic) Digitalisation

P.T.O.
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(d) Techniques of Control

(e) Performance and Reward Perceptions

(=) i I 3 e @ Hee i FREA FC| TR
@ FEn e & W R WS e

(@) ord w@ ¥ vEuT @ frg Ao ¥ W F IR
w,ﬁﬁﬁﬁﬁmﬁtm@ﬁ%wﬁm,
Aftas A A B s 217 S F Ao
3 o wEERE R A EEE ® W A
a@ﬁ%ﬁwmmywmﬂm
whifog ?

at

S § ¥ el @ e feordh o :

(=) SR 6

() wrdedst fafaemar
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(Write your Roll No. on the top immediately on receipt of this question paper.)

This question paper contains 2 parts. Both parts are compulsory.

Candidates have to answer all the questions in Part A and any three questions in Part B,

Questions in Part A carry 10 fnarks each and questions in Part B carry 20 marks each.

. (A)
(B)
2. (A
- (B)

—~

Part A

Examine how fear was used as a tool of oppression in /984. How does it affect the

behaviours and beliefs of the citizens ?
or

How does. Winston and Julia’s relationship challenge the Party’s control, and what does
it signify in the context of personal freedom ?

Criticallf comment on the following :

“That nigger yonder took advantage of me, an’ if you fine fancy gentlemen don’t wanta

Or

Write a short note on Scout as the narrator.
PIL.

o)

Vet



3. (A)

(B)

4. (A
(B)
5. @A)

(2 2904
Explain with reference to context :
“The caged bird sings
with a fearful trill
of things unknown
but longed for still-
and his tune is heard
on the dis;ant hill
for the caged bird -
_ sings of freedom.”
Discuss “Poem About My Rights” as a powerful indictment against misogyny.
Part B

Examine how the Party manipulated history in /984. In what ways does changing the
past help the Party maintain its control ? What are the implications for the population’s
perception of truth and reality ?

Or

Discuss the concept of doublethink and its significance in the society of 7984. How does
the ability to accept contradictory beliefs serve the interests of the Party ? What does
this reveal about the nature of truth in a totalitarian regime ?

Critically examine the portrayal of moral ambiguity and justice exploring their intersections
and conflicts in Harper Lee’s 7o Kill a Mockingbird.

R Bt i S
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(B)

(A)

(B)

(A)

(B)

(-3 ) 2904
Or

Discuss the theme of childhood innocence and its disillusionment in Harper Lee’s 7o Kill
a Mockingbfrd.

Paulo Coelho’s ‘In the Prison of Repose’ can be read as a personal and creative

expression of protest against the curtailment of freedom. Explain.
Or
1"

Nadine Gordimer’s ‘Amnesty’ explores the dual oppression of race and gender in the
lives of black women under Apartheid. Discuss.

What are some of the causes of human rights violations in society ? How can writers
as well as readers contribute towards an effective redressal of the same ? Discuss using

examples from the prescribed texts.

P

Or

Offer a detailed critical insight into any form of human bondage as an infringement of

human rights. Substantiate with reference to-the texts from your syllabus.

3 2500
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Attempt Any Five questions. |
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3191 ‘)
o @ Ry fEn

@ yE-UF @ el 8 W By v Fuile e w s
FwAE g |

foredi dfer wes & IR AR |

ot g B HE 9w B

=4 IO &1 IR Jareh a1 B R v e ¥ Ao afe
T IER T AT U B B =Ey |

Define public policy and explaiﬁ the characteristics
= ’

with relevant examples.

Aw Ay T ofonfeg = IR wERe JEEen & A
sl & wReEr wW |
Examine the determinants of public policy and their

significance.

AF Sy & Fufen ik S9F wEs @ qde FI

Inclusive development is reflected through public
policies. Discuss the socio-economic impact of public
policies in India in the light of this statement.
TR few adetE AR wem ¥ ofefie @ 2
= HUT B e A R A dren A & wwifore - sufi
W @ T aR

3191 3

6.

oa

Discuss any three major theoretical approaches for

public policy formulation.

A A P & forg Bl a9 we daifs gfemon =it
|l W

Explain the process of public policy formulation with

relevant examples for each stage.

A G Fefo 2 ufFa @ vE wor & foe wefe |
FAEON & Y R i

Policy implementation is vital for good governance.

Ana'iyze.

g & forg A i et @1 e X

Public policy evaluation and analysis is an integral
part of policy formulation. Explain with suitable case
studies.

A A e 3 fawewer A e @ vw e s
2| ITgE DA FHAT D WA T |

Critically analyze the trajectory of the Mahatma Gandhi
National Rural Employment Guarantee Act
(MNREGA).

e N WS AR AswR TR FffEE (FEan) @

WA TY 1 SeATTE Ao @)
R.T.0.
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5 Discusg the Various policy Nitiatiyeg on economijc
Cmpowerment Presently unde, im

pJemenlation in India,

50N Any Twe of the ."m'l,;m-ing:
ﬁ%&aﬁ#ﬁwﬁﬁwmﬁmﬁ%ﬁwr
(a) Rationy] Choice Theory

Ffﬂ&q‘waf%mﬁafa

(b) Nationa] Educatiop Policy (NEP) 2029

(d) Nationa] Health Mission (NHM)

W@aﬁmﬁm(?ﬂ\’wﬁ)

! (700}
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Your Roll No...............
Sr. No. of Question Paper : 4313 I
Unique Paper Code : . 2324002003
Name of the Paper :  Nationalism in India
Name of the Course ¢ GE. Political Science
Semester N § |
Duration : 3 Hours Maximum Marks : 90

Instructions for Céndidates

I

Write your Roll No. on the top immediately on receipt of this question paper.

2. Attempt Any Five questions.

3. All questions carry equal marks.

4  Answers may be written either in English or Hindi but the same medium should
be followed throughout the paper.

BE & fog e

! wm—w%ﬁaﬁamﬁqwﬁ%ﬁﬁ‘awwmaﬁm%ﬁwl

2. [ dta we @ I A

3 A v @ 3 | 2

4 wmwwmmﬁawwwﬁéﬁq%ﬁwmﬁmﬁmmwﬁm
=fRy)

1. How did the nationalist approach differ from the imperialist approach? Discuss.
WA I ARSI IURR & Fore W Ryt o ? fae=mr @iy

2. What were the characteristics of reformist movements in 19th-century India and
how did they provide the basis for mass mobilization in the nationalist movement?
Analyse.
1991 W@ & R ¥ GURAR S =) R o R IR T s §
SHAFEE & forg fhg yar R e femar? fageivor $fifsm

3. What were the key differences in the perspectives of the extremists and the

moderates within the Indian National Congress? How did they contribute to the
freedom struggle? Examine.

Dgt/q/og,_us PO,
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10.

TR T I B R w3 IeRard gfteenton & & 7w sier w7 A7 I
wEFal 4UM ¥ R weR ane fear? gder Fie
What were the key tactics used by Gandhi in the Non-Cooperation and Civil

Disobedience movements? How was he successful in turning them into mass
movements? Analyse.

FEEANT 3R AT AT ST ¥ W R AL T W WAl @ 97 4 3%
T e § age A DY el g¢7 favewor S

Analyse the role of socio-cultural organisations in the freedom struggle in India.
WRE ¥ T ad GUH A WA - Akt Al o et @ e i

What were the impacts of the peasant movements on the nationalist movement in
India? Discuss.

TR ¥ Tgard e W REE Stde @ we wen? fadeer Sl

What were the key differences between Jyotiba Phule's and Ambedkar's
approaches to the caste reforms? How did they address the caste question in the
freedom movement? Examine.

wfy guRt & Wi S B SR sTad @ gfteair & @ e S @ A7 Wi
AT e A S & 9E & g weR gt ferar? e S

Analyse the significant contributions of women to the Indian National Movement
with reference to the Non-Cooperation Movement and the Quit India Movement.

IEANT JARTT 3R 9RT B AT B Gol F WK W ST § AfRenstt &
HEQUT ANTE T fagerr whifeig ?

Discuss the role played by Sardar Vallabhbhai Patel in integrating states in India.
WRA ¥ T E vIgd e A SRR deoTs 1o grr s i sifie | fadse
EalsId

Write short notes on Any Two of the following:
frfofaa & @ foedl < w @fera fewaol fofaw
(a) Marxist Approach to study of Nationalism in India
WRA § UG & AT & Aadrel IIEH
(b) Two-nations theory
fa-wg Re=
(¢) Quit India Movement
VR SIE JerdT
(d) Tribal Movements in pre-independent India

oA - g4 ¥RT ¥ Sfad sde (3000)
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3. Each question carries equal marks.
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but the same medium should be used throughout the
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2 emsﬁ%ﬁmﬁﬁﬁumﬁmnﬁﬂaﬁm|

3.

m%mnﬁn%aﬁamq%|

Evmmuﬁamﬁwa&ﬁm%ﬁﬁ@wmmmﬁaﬁmﬁﬁﬁ
Fﬁﬁﬁﬁ?ﬂﬂﬂﬂ@ﬁﬁ?ﬂ?ﬁ#|

Write short notes on any three of the following :
(6x3=18)

(a) Tariff

(b) Nash Equilibrium

(c) Signaling

(d) Cartel

(e) Free rider problem

wﬁ#%ﬁﬁmwmmm:
(%) 2w

(@) o e

4514 3

(¥) Wit wEe ww=n

(a) Explain the social cost of monopoly using

diagrammatic illustration. (10)

(b) Advertising plays a key role in a monopolistic
competition. Do you agree? Give reasons to

support your answer. (8)

(F) st fmwr &1 Swin w@ iR @ Al
AN w SR i

(ﬁ)mmﬁwuﬁ@ﬁmﬁﬁwmﬁmﬁﬁwﬁm%ﬂﬁwm

%aamam;wma%?am%aﬁt%iwﬁr#amw

EGIECT

P.T.Q:
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Define and give an example of public good. Can

the private market provide this good on its own?

Explain.

aﬁaﬁiﬁaﬁrﬁqﬁﬁwaﬁﬁﬁsﬁ?mmﬁﬁmw

ﬁﬁhmaﬁmuﬁa@mwm??m

Fiforg)

Discuss how externalities can lead to market failure.

What are the potential consequences for social welfare

when externalities are present? (18)

wﬂ%ﬁv%a@aﬁrﬁmwwﬁﬁmmmrm

mwﬁ%:mmm”ﬁeﬁﬁmw%%w
e it & 37

(a) Suppose that labour is the only input used by a
perfectly competitive firm. The firm’s production

function is a follows : 9)

(18)

4514 5

Days of labour Units of Output
0 0

1 7

2 13

3 19

4 25

5 28

6 29

7 29

(i) Calculate the marginal product for each

additional.labour.

(i) Each unit of output sells for Rs 10.
Calculate the value of the marginal product

of each worker.

(iii) Graph the firm’s demand curve.

(b) Give two examples of events that could shift the
supply of labor and demand for labour and explain
why they do so. 9

P T 0.
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() T ST s v ol W g g e
ﬁmwwg,ﬁWWW%

TER B :
W I F g
- 0
! 7
: 13
3 19
¢ 25
g 28
& 29
4 29

(i) W sfoRea s & fyo G
‘ 49T I1E Y o
FfTg|

(mgfﬁmmﬁmmﬁmﬁ.
=
e MUAT

(R e g——

4514 4

(@) Qﬁmaﬁ%é’rw%@wﬁmﬁaﬂtw
& v @ we aEE F ok w3 Y@

Fa B

(a) Compare equilibrium price determination of the

6.
oligopoly market with that of the monopoly. (8)

(b) Give a brief account of application of the concept
of Prisoner’s dilemma in an oligopoly market

(10)

structure using an example.

() CeIferERR Ao & FEAMEHR SR & Fger 1o
ffor &t g o

(@) v I F1 ST TR FEARIER AR EaA A
wa & gfawr @ STALROT B SIAVART ST wfer faeRr
|l

Identify and explain the two main problems associated
with asymmetric information. What are moral hazard

(18)

and adverse selection?

mﬁw%q&&wmaﬁaﬁmﬁﬁm
sk I e S A WRew iR AldEe T T

87

B.T.O.
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8. (a) Explain the rationale for international trade. (8)

(b) Explain how international trade helps both exporting
and importing countries by enhancing efficiency.

Use diagram to support your answer. (10)
(%) g @R & SR @ e S

(@) a8 s fF S =R e weR Ta 9eEw
o 3k s 2 o & WeT &Rl Bl 3O
IR T AT ¥ HARE W IWRT I

(2500)
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43 E:Write your Roll No. on the top immediately on receipt

of this question paper.

2. This paper has 8 questions, out of which § have to be
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3. Fach question is of 18 marks.
4. Please attempt all parts of a question in one place.

5. Answers may be written either in English or Hindi;
but the same medium should be used throughout the

paper.
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Bl & fog fde 2920 ¥
i T(ia)sﬁama%mwwﬁmaﬁwm
A9 & fied & 3w e o SR 2 e
H T : {
2. TWUARH g yo &, fordl
’ 5 we faemet . :
i EA H A 2. (a) How do financial markets suffer from asymmetric
3 WUE AT 18 N @ information problem? What are the tools used
. 1o - = o e a ‘?
4. FH I D @ Y v @ SN by financial markets to address this problem?
. (12)
: mmwwmmaﬁmﬂm%’é}ﬁ?ﬁww#aﬁm AT
TR I T Mo v A A iRy (b) ‘Transaction costs freeze many small savers and
borrowers out of direct involvement with financial
markets.” Elucidate. (6)
b L(8) Dissuss vakions . -
(a) | 1scuss various determinants of money supply in €D) s AeR ST e G A @A T B
an economy? o '
12} e F) EA w & e i e g I e
(b) Wh : . _
) : ¥ #tc postal deposits considered 2 part of FA AT ST w4 B 7
liquidity aggregates? (6)
=) ' (@) - o AN DR aeEEa SR FUREA
wafd & st fufka
- : L el 2 fredty W @ Ay A wEE A ww R A
iforg ? 4 5 ! )

e gl

s
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3. (a) Why was there a need to move from base rate
- lending system to MCLR system? Discuss ih';thi_s
context the effectiveness of MCLR systeniﬂ in

improving the transmission effects of monefary

policy. e

(b) Examine the following conceptual issues ‘in

compilation of monetary aggregates. (6)
(1) Sectorisation issue

(if) Coverage of Depository corporations

(%) S = Sure o A T T o
Wﬁﬁ?wgﬁﬁ%%%mi

w T i

fardmm #ifse) :

(i) a’?ﬂmw

2920 5

{ me Markets
4. (a) Explain the rationale for the Segmented

What are this theory’s major
(12)

Hypothesis.

weaknesses?

0 SETVE king
(b) Differentiate between 100% reserve banking

actional reserve banking system.
L¢

(6)

system and fr

zaﬁamqﬁwmﬂrﬁsﬂﬁmﬁmaﬁﬁmw

forgia < v awrsedr @ #?

(%)

a1 yuTTert
(@) mU%WWWﬁaﬂiaﬁrﬁﬁaﬁ%

& A" A 9aEgl

i uments
is important but the number of instr

target
exerting independent effects on the g
atement in the context of

(12)

variables. Explain this st

monetary policy.

p.T.O.
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(b) What are intermediate targets in monetary policy?
Critically examine the choice of the interest rate

as an intermediate larget. (6)

(%) %aamaﬂﬁﬁnﬁwqﬁ%,aﬁ?ﬁﬂm
aﬁ'wvm‘am%’maﬁmvﬁaﬁm@mﬁ
Wsﬁrivfﬁl'?ﬂﬁzﬁ%a}mﬁﬁWEﬁwaﬁm
FHifsre)

(=) %%%mﬁawwqumaw%w
R O R A G e [

(a) Derive deposit multiplier and complete currency
multiplier. What are the changes in deposits,
currency holdings and money stock if the RB]
purchases Rs. 1,00,000 worth of government

securities from open market when required reserve

ratio is 10%, desired CXCess reserve ratio is 5%

and currency deposit ratio is 25%. (12)

(e B ) T nA

2920 7

7

of money?

| i crties
‘(b} What is money? What are the physical proper

(6)

L
:'_(m)wwaﬂtzﬂﬁmgwﬁqﬂ%aﬂml

@A @R AR A 1,00,000 TA T H AEHR

wifdl @dea 2, W onfem swfae ST

10%,

aifesa afafem wwfem A 5% 3R A0 SB0 ST
259 &, A w, W@ AfeR S HE Wi F e e

BI?

('i;ﬁ) w w #7 @ e oo w7

i ial stabili f Indian
maintaining the financial stability ©

Economy.

(12)

g ‘urrency? Why is
(b) What is a Central Bank Digital Currency? y

i ia?
Central Bank Digital Currency needed in Indi

(m.)l Wit srfaraen € fasia Rugan @A @ # SR

food Aw A e w a AR

(6)

BT,

1
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(@) @ d= Rfses ¥ = 27 w%%ﬁaé’aﬁ%ﬁiﬁr

weT @ AT w27

8.  Write short notes on any two of the ﬂﬂlowﬁng‘§(9x2]

(a) Functions of Money

(b) Insurance Regulatory and Development Authority

(c) National Housing Bank

frafofas % & faedl @ = wfera ol fofav -

() q=1 & FHE

(wm) S fafame sk faem wite

ek

(2500)




[This question paper contains 8 printed pages.]

Your Roll No...............
Sr. No. of Question Paper : 4515 I
Unique Paper Code : 2035002003
Name of the Paper : English Fluency — 11
Name of the Course : Common Prog. Group : GE-

English

Semester B[]
"Duration : 3 Hours 2 Maximum Mark.s : 90

Instructions for Candidates

1. Write your Roll No. on the top immediately on receipt

of this question paper.

2. This question paper contains two parts, A and B.

Both parts are compulsory.

3. Answer a total of six questions, of which 3 quéstions

are from Part A and 3 questions are from Part B.

PoT.D,
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PART - A
Answer any three questions : \ (3x10=30)
1. What do you mean by First Information Report (FIR)?
What is the process of filing an FIR?
OR
File an FIR for a forgery transaction made to a

website during payment of your online bill.

2. Draft a letter to your district’s municipality’s office
to inform them about the illegal cutting of trees in

your locality.
OR

Prepare an RTI application seeking information gn

the sanitation of C'J'.';Ege canteens in De'' i/NCR.

4515

3.

3

Change the following sentences into Passive Voice

[Any Iten]

(i) Natasha lost all her money.

(i) Who sang the song?

(iii) The children teased the animals in the zoo.
(iv) 1 found the bag.

(v) Miss Mary teaches us English.

(vi) Shiva was flying a kite.

(vii)  The people were helping the wounded man.
(viii) The peon rang the bell.

(ix) They clean the house every day.

(x) My sister baked a cake for my birthday.

B0,
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4.

(xi) Susan is writing a letter to her parents.
(xii) They have completed the project.
Find out the meaning of the following idioms and use

them in a méaningful sentence of your own. [Any
fivel
(i) Bed of roses
(i) Red-letter day
(iii) Add fuel to thé fire
(iv) Black sheep
(v; Eye for an Eye

(vi) Blessing in disguise

(vii) Under the weather

4515 5

3.

Write a blog post on the following topic :—

“Improving mental health of employees at the

workplace”
OR

“Is increasing population a boon or bane for the

country?”

PART - B

Answer any three questions given below »

(3x20-60)
Write ten turns of dialogue between two friends,

on advantages dnd disadvantages of online

teaching.

P FO.
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dR ' 8. You are the President of the Dance society of your

- college. Create a profile on Instagram for the same

Write ten turns of dialogue between two friends on :
to expand your society’s reach across various people.

the importance of sports in our daily lives.

OR

7. Write a letter to your Principal requesting him/her
You have recently completed your postgraduate

to introduce extracurricular activities in your
degree from the University of Delhi. Create your

college.
professional profile on LinkedIn.

OR

9. Write a review of a book which you have recently

Write a CV and a covering letter to apply for the
read. Also mention the name and author of the

position of Business Analyst in a multinational
book.

company. Include your contact details, educational

qualifications, work experience, achievements and ; - OR

other interests.

‘ Write a review of a movie you have recently enjoyed
watching. Also mention the cast and director of the

movie.

P.T.O.
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10. Write an essay on Women Empowerment.

OR

Write an essay on Impact of Climate change.

- (15000)



This question paper contains 2 printed pages]

Roll No.
S. No. of Question Paper : 3134
Unique Paper Code : 2034002001 A
Name of the Paper . Language and Culture
Name of the Course : G.E. : English
Semester %
Duration : 3 Hours Maximum Marks : 90

(Write your Roll No. on the top immediately on receipt of this question paper.)
This question paper contains rwo parts. Both parts are compulsory.

Candidates are required to answer A/l the questions from Part A and any Three questions
from Part B.

Questions in Part A carry 10 marks each, and questions in Part B carry 20 marks each.
Part-A
1. (a) What are the universal properties of human language, and how do they reflect the unique
nature of human communication ?
Or
(b) Explain why ‘arbitrariness’ is considered a key characteristic of human communication ?
2. (a) Write a note on how one’s linguistic repertoire (overall acquired linguistic skills) determines

the way one communicates in different social settings ? Explain with reference to the
use of English in India.
Or

(b) Write a note on the ‘optimization theory’ proposed by Tej K. Bhatia in his essay, ‘The
multilingual mind, optimization theory and Hinglish’.
P.TLO.
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(@)

®)

(@)

(b)
(@)

(b)

(@)

(5)

(@)

()

( 2) 3134
Discuss with examples what is referred to as the “critical period” in language learning ?
Or
Write a note on disability and its representation via language.
Part-B
Discuss critically how language helps in shaping an individual’s identity.
Or
Globalization has prompted multilingualism. Do you agree ? Argue with suitable examples.
Trace the historical development of Indian English from the colonial period to the present
day. How has it evolved as a distinct variety ?
Or
Why is Indian English considered a unique form of English ? How has it developed to
meet the communication needs of people in India ?
Explain how language can both empower and marginalize individuals with disabilities. Use
examples to show how language shapes societal perceptions with regard to disability.
Or

Examine how language reflects and reinforces gender roles and stereotypes ? Provide

examples to support your answer.

Describe the differences between language acquisition and language leamning in the context

of your own experience of society on the one hand and the classroom on the other.
Or

Discuss how language can act as a social marker through dialects and varieties. Provide

examples to illustrate how these forms vary with factors like region and social class.

2 100
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YXour Roll No...... 0580

HAHET FAHHAIR ...
Sr. No. of Question Paper : 2927 |
Unique Paper Code : 2294002003
Name of the Paper : Contemporary Environmental

Issues

Name of the Course i GE : Geography
Semester/Annual S 12!
Dura{éon : 3 Hours Maximum Marks : 90

Instructions for Candidates

:5 . Write your Roll. No. on the top immediately on receipt

of this question paper.

Attempt any five questions.

2

3. All questions carry equal marks.
7 4.  The use of stencils is allowed for outlining maps.

5 Answers may be written in English or Hindi, but the

same medium should be used throughout the paper.
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orE @ fog fAde
1 W wE-T & e f g e e FeiRe wm w smEr
EGERICRTITCE! y
g
e ' wr
2. faedf ufa wwl & Iwr Ao |
3 |l WA @ e e
4. wF B we & foe 2R @ wan fea s gwar 7oz
Fafer 21
5. IR B srorar sAGH AW A A R o s ¥ form wed ® WA
Ier Tored @ Uer € W S WA R
1.  Explain the historical development of the human-
environment relationship.
A - vt dael @ Ofawifaes o @it e w4
2.  What are planetary boundaries, and why are they

crucial for sustainability ?

TE g @ 2, 3R A ferar & fop =@ wEeal 27

—_—

2927 3

3.

6.

What are the causes of biodiversity loss ? Explain

with a case study on conservation efforts.

Sta fafaum gm @ FRo F 87 WE W & UE F9
S @ a HHA |

Describe the main sources of air pollution and analyse
its impact

Ay WU ® e HiE O aue a 3R e N o

~3

fergeror =)

Define solid waste and describe its primary types.

Discuss effective practices for managing solid waste.

Bl FeR w afefie S T e WahRl i avie e
B w w wErE @ fog g Il wowE )

Describe the main causes of land degradation and

global efforts to mitigate it with examples.

i eRvT @ W RN 3@ EW w @ dfaw wamal

(-3

w1 Jemw gigd guie Fifee

B L0,
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i

What is climate change ? Explain adaptation strategies

for addressing its impacts.

e Aftad w2 T W A fraes & fog st
FEAfEE @ e wfeT

Define climate change mitigation and discuss global

efforts ammed at reducing greenhouse gas emissions

Sierary R W e @ S AeersE e I
& % wQ @ Abaw yad W W

Write short notes on any two of the following:
Freffea A & fndt & w afer feoqdt fora:
(a) Human-Environment Relationship
HFTa - aTEoT gs
(b) Types of Biodiversity
S fafque & wER
(¢) Water Pollution
S S

(1000)
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[This question paper contains 4 printed pages.]

Your Roll No....... Seaiiane
AT FTATHID oeeveeveene

Sr. No. of Question Paper : 2928 1
Unique Paper Code 2294002004
Name of the Paper . Geography of Tourism
Name of the Course . Generic Elective : Geography
Semester/Annual ==
Duration : 3 Hours Maximum Marks : 90

Instructions for Candidates

1. Write your Roll. No. on the top immediately on receipt

of this question paper.

[39]

Attempt any five questions.
3.  All questions carry equal marks.
4. Use of stencil is allowed for drawing outline of maps. '

5. Answers may be written either in English or in Hindi;

but the same medium should be used throughout the

paper.
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2928 2

o & fau FEw

=@ T-T @ e & e v e Pl s e s
Fehdien oIy |

o= e el 1 TR AR

asft A @ 3w w2

AARA @Re & v & sl 21

3ammnaan3azﬁﬁﬁ1n%ﬁ%mnﬁﬂﬁﬁﬁﬁ%awﬁaﬂﬁ
T ALAW T B BT AT

Define Tourism Describe the interrelationship between

tourism and recreation.

qﬁﬁrérd%ﬁﬁiﬁf|q&ﬂ;ﬁhwﬁﬁﬁﬁ%éhrwmﬁﬁ
FT g |

Discuss the geographical parameters of Tourism as

given by Robinson.

ﬁ%mwami&zwqq&ﬁi%%%ﬁ%ﬁﬁw&ﬁiﬁfﬁmm
e |

2928 3

Give an account of Nature Tourism and Cultural

Tourism.
u@%qﬁﬂ‘ﬁimﬁﬁﬁ:mh#ﬁnﬁﬁmra%w1
Discuss the rise of Medical Tourism in India

W ¥ Bifrear oo & Sed W == & |

Discuss the positive and negative impacts of tourism

on economy of any country.

R o 2 9 seferaen W wed B WK Ua AR
yE 1 Jookd g |

Give a detailed account of factors affecting

international tourism.

e e @ e e A e feege e
A |

Elaborate the factors affecting growth of tourism in

India by citing suitable examples.

P.T.0.
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I9ET I 29 BY R A WA & fawe wr A s
A FH H T FR

8. Evaluate the National Tourism Policy of India.

HRA & TG qheT A @ e i

9. Write Short Notes on any Two of the following
frfofes & & foesl @ w wfer Rooforr ford |
(a) Pilgrimage Tourism
W g
(b) Ecotourism
iRfeafoe T

(¢) Desert Tourism

e, o gdew

(1000)
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Your Roll No...............
Sr. No. of Question Paper : 3152 |
Unique Paper Code : 2274002004
Name of the Paper : Theory of Public Finance
Name of the Course : Economics-Generic Elective

B.A. (Hons)/ B.Sc. (Hons) /
B.Com. (Hons)

Semester 0

Duration : 3 Hours Maximum Marks : 90

Instructions for Candidates

Write your Roll No. on the top immediately on receipt
of this question paper.

This paper contains a total of 7 questions. Candidates

are required to answer any FIVE questions.

All questions carry equal marks.
All parts of a question must be answered together.

Answers may be written either in English or Hindi;

but the same medium should be used throughout the

paper.
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3152 3
BEl @ fog 3w
(i) Seame TeEl SR Sede Fasv e S SwEEROT W
1 L
W?ﬁw%ﬁaﬁﬁwﬁqwﬁ:ﬁﬁamqm REAT FITT
ST fofag |
2 gaﬁq{-ﬁa?f 7Ty wﬁﬁ‘w‘vﬁﬁhwﬁﬁwa 2 (i) Markets may not always be pareto efficient, thus
Ll warranting the need for public policy. Explain
5 e two such cases of market failure which require
: HAF 9
G government intervention. 9)
4. U R W HEY Ty s
Ll ' (i) How can externalities be addressed using
. i 2 1 2 1 9
5. TEU-97 @ I mm%%ﬁw%% market-based solutions by the public sector?
mﬂmwmwama@ l ) Explain with two such examples. (9)
i ‘ (i) @9k B WA HuA AE B TR T, T TER
. E : ; :
(1) XPLaln the relationship between competitive S Sy € AaEEa Bt 21 SR @t fawer
markets and pareto efficien '
Cy using the ; ;
fundamental theorems of welfare economics 3 3 Y e & e S e aeEh e
9) @ sEwEEal B 8l
(i) Explain the conce ;
pt of Production effici .
Product Mix efficiency. ey a;:; (i) arSfrR & BN SOIR - SMOTRE T I9am
(i @ TR F By Gt e o gwar 27 W@
1 $WIU|$|8' ST%TH ﬁ%ﬁ LN
SR ot by i ST A JEEl F WY G
SR TR T % A qae w9 e
FfoTg |
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iR (i) Derive the demand curve for public goods. Also

derive the collective demand curve for public

goods from individual demand curves. 9)

(i1) Explain graphically the distortions associated with

public provision of private goods. 9)

(i) wdsfen sl & for =i @ e Fifvo =i
ﬁumﬁ%¥ﬁhﬁ$a§ﬁ%ﬁﬁwaq%$WMHmﬁ?
FEG~ gl

(ii) ﬁﬁTm@ﬁi%aﬁmﬁﬁummwﬂzﬁ?ﬁ@%ﬂaﬁ
T B A

Write short notes on any three :

(1) Free Rider Problem

i

(i) Taxes as Automatic Stabilizers

(iii) Coase Theorem

(iv) Difference between Absolute and Differential

tax incidence. (6x3)

3152

el fm W wfere fewfiar foRaw -

(i) vt TEsT e

(i) wafera Rudem & &7 A &

(iii)

(i)

(i)

T WA

e i faves @ W @ @9 S

How does elasticity of demand and supply affect
the changes in price and quantity on the incidence

of a tax? ©)

“Efficient policy should therefore minimize this
burden, referred to variously as excess burden,
deadweight loss, or efficiency cost.” How can
the analysis of excess burden in tax policy aid in
choice between different goods in the economy?

9)

A SR SR S A R S e TR e SR A
¥ oRadT @ B R w27

P.T.0:.
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6

(i) “owe AfT = @l 3@ AR A FH FEN ARy, TR

6. (1)

faftr w0 4 sfaRew <=, 3@ & o1 eaar anE
® w H geig fhar wir 217 @ g § dfakes 9
=1 fagor sefereen ¥ fafver aegell & 9w wEw &

DY BT F GFHA 27

Look at the following data for country A :
C=185 +0.5Y,

I =285 G=60; T=-40 + 0.25Y
Disposable Income: Y, = Y-T

Equilibrium income: Y = C+1+G

(a) Calculate the equilibrium income
(b) Calculate tax collection in equilibrium

(c) What is the level of Government’s Budget

9)

Deficit or Surplus in equilibrium?

3152

(i)

(i)

7

Derive the government spending multiplier. Also

)

explain the balanced budget multiplier?

m A & forg Freafafea 3er 2w

C = 85 + 0.5Y,

[ =85, G =60; T=-40 + 0.25Y

W I Y, =Y-T

age JEd: Y = C+1+G

(&) &gee 3@ @ AE A

(@) dge § F EIE A A0E R

(1) daer F WHR D woE WIS A AT H FH

=1 87

W = U e wdfed wee U A
RAT FITTg ?

How does the banking system create money and
what is the role of the required reserve ratio in

(9)

this process?

PLT.0,
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3152

(i) How does the €

operations‘? D

detail.

e —— R

8

entral bank conduct open market
nics of it in

)

iscuss the mecha

(1000)
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Your Rolk No.iiaseensi

TTHT IFAHHD ...

Sr. No. of Question Paper : 2952 1

Unique Paper Code 2324002005

Name of the Paper : Governance: Issues and
Challenges

Name of the Course : G.E. : Political Science

Semester 1

Duration : 3 Hours Maximum Marks : 90

Instructions for Candidates

1. Write your Roll. No. on the top immediately on receipt

of this question paper.
2. Attempt any five questions.
3. All questions carry equal marks.

4. Answers may be written either in English or in Hindi;

but the same medium should be used throughout the

paper.
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aE & fag FEn aﬁﬂﬂﬁaﬁwﬁ%%%%mﬁﬁw

1 ﬁﬁu\ﬂ%@ﬂw%wﬂﬂmaﬂ%%ﬂmﬂ

i fofey |
4. Write an essay oOn the concept of sustainable
3. o W B e E B aﬁwﬂa%%ﬂﬁg@@_

4 TEUTA- ﬂﬂaﬂﬂ&%sm&gﬁﬁm%h

@Eﬂd&dﬂ&ﬂﬂgmﬂ%%ﬂ%_ 5. The key to successful democracy is people's
participation. [n the light of the above statement

discuss the various initiatives towards people's

participation in India.
%%%%%ﬂd%ﬂ%w_%%%
%wﬁmi%%%ﬁ%m%i%ﬂ
Al WA

1. Define governance. Explain the different facets of

governance.

%%%%_%%%ﬂ@%%%
Ead . : .
6. Gandhi's notion of trusteeship is a precursor to

Corporate Social Responsibility. Comment.
2. Examine the relationship between governance,

development and democracy.

uﬁn,wﬂa%ﬂ&ﬂﬂ%%ﬁﬁwﬁéﬁs%_

7. Examine Right to Information as a tool for empowering

3. Explain the concept of human-environment interaction the citizens.

and analyse it's various dimensions.

P.IT.O.



2952 ' 4

10.

mﬁﬁﬁﬁmmﬁ%w%mﬁw%aﬁﬁn
T A& o |

Explain the impact of e-governance on the
administrative system in India.

WA ¥ YIEAE WOl 9T S -TaAd & YHE S ARl i

Discuss the evolution and implementation of Citizens'

Charter in India.

WRA ¥ ANRE O & Fwm JR sraaT w® 9= a6l

Write short notes on Any Two of the following:
frfofaa & & sl @ w aftr oo fofaw |
(a) 73rd Constitutional Amendment Act
731 Hduite wEa sfefam
(b) Environmental challenges in the 21st century
208 R ¥ T SR
(c) Good governance

qamET

(d) Public Service Delivery in India

WRA ¥ qoten dar faeor
(2000)
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Your Roll No...............
YT A HHI..............
Sr. No. of Question Paper : 2950 |
Unique Paper Code 2324002003
Name of the Paper ¢ Nationalism in India
Name of the Course L € Politic.al Science
Semester e 11|
Duration : 3 Hours Maximum Marks : 90
g ;3 e quifa : 9p

Instructions for Candidates
—=1uctions for Candidates

1. Write your Roll. No. on the top immediately on receipt

of this question paper.
2. Attempt any five questions.
3. All questions carry equal marks.

4. Answers may be written either in English or Hindi

but the same medium should be followed throughout
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5 i LG O (s L

™ -1 & e & aw R w AuiRe = w s
FFAI oy |

s drer uet & I=R AR |

T T B FE w2

T Y- U9 & I Jdsh o B FhH ve ww ¥ s,
AfhT Tt IS 1 WEEH T & B ARy

What is nationalism ? Discuss the subaltern approach
to nationalism.

CAgER W 87 UGAR & gaeed SUnW @ fadeen
e |

Discuss the contribution of Arya Samaj movement in

the national independence movement of India.

WRA & T Waad Ao § Ad e A &
e W T AR |

Critically analyse the significance, programme and
consequences of the Non-Cooperation Movement in
India's national independence struggle.

2950 3

R & UK E@aaa g9 ¥ SN Sl @ e,
HAFA IR RO F FAEE A SR

Analyse the role and contribution of liberal

constitutionalists. in the Indian National Movement.

R T FRET A 3eRard siamaneal @i s T
AR o fagewn Fifk o

Write an essay on Mahatma Gandhi's Civil
Disobedience Movement in India's Independence
Movement.

YRE & Eaadl e A WETen et & 9feed sEen
IR W s fAag ffae |

Analyse the role and contribution of Congress
Socialists in the National Movement of India.

W @ U I A wi w9 e 3
AREF & Ry SAia :

Discuss the role of labour movements in India's
national independence struggle.

RE B T WA ad ¥ s siee @ sfie &t
e i

PiT.0.



2950 4

8.

10.

Discuss the main factors for the rise of communalism
in Indian politics.

tmmuaaﬁﬁi¥mwm@mmw%3ar%3@naméfé?aﬂ
Hifod |

Discuss the participation and role of women in the
national movement of India.

m%u@wmﬁwﬁmﬁa&maﬁtiﬁmw
= S

Write sh.ort notes on Any Two of the following:
Frefofem ¥ & el @ w el Roh fafe |
(a) Imperialist Approach

THETSEETE IR
I(b) Brahma Samaj'

EISI LI
(¢) Quit India Movement

YR BI ST
(d) The Two-Nation Theory

¥ - o R

(3000)
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Your Roll No..............
Sr. No. of Question Paper : 3152 I
Unique Paper Code © 2274002004
Name of the Paper : Theory of Public Finance
Name of the Course : Economics-Generic Elective
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—————008 for Candidates

1. Write your Roll No. on the top immediately on receipt
of this question paper.

2. This paper contains a total of 7 questions. Candidates
are required to answer any FIVE questions.

3. All questions carry equal marks.
4. All parts of a question must be answered together.

5. Answers may be written either in English or Hindi;
but the same medium should be used throughout the

paper.

DE Q-QO?_V P.T.O.



3152
Al & forg Fdw

= - @ fre & e v e Fuiite s s
ERCICATITCE
gaﬁnﬁ@a7mﬁ%|auﬁﬁhﬁﬁﬁﬁﬁ%nmﬁ%aﬂﬁﬁ

1

g
3 Yt U B e G R |

4. WET D G HEN T TF Y HoT |

5. = V- IR S ar e Rl e s ¥ Afor, AT
) IR T WeAH TR 6 B ey |

1. (i) Explain the relationship between competitive

markets and pareto efficiency using the

fundamental theorems of welfare economics.

)

(ii) Explain the concept of Production efficiency and
Product Mix efficiency. (9)

0)aﬁmwmﬁ:mhmaé%ﬁﬁﬁ:ﬁaﬁfstmhtam%
wfreqst are ik UReY TEdl @ S deul Sl e
EalE
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warranti
nting the need for public policy. Explai
two such 7 - )
¢l cases of market failure which requir
€

government intervention
%)

ng

B Sy G
xplain with two such examples (
; 9)
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4.

4

1 . Also
i ive the demand curve for public goods |
gy d curve for public

©)

e collective deman

m individual deman

derive th
d curves.

goods fro

public provision of private goods.

e
Write short notes on any thre

(i) Free Rider pProblem

(i) Taxes as Automatic Qtabilizers

(iify Coase Theorem

(iv) Difference between Abso

tax incidence.

©)

lute and Differential

(6%3)
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fardl W e oo ferfee -
(i) W TES T

(i) e Rafe & @ ¥ W
(iii) =R A

5. (i) How does elasticity of demand and supply affect
the changes in price and quantity on the incidence

)

of a tax?

(i) “Efficient policy should therefore minimize this
burden, referred to variously as excess burden,
deadweight loss, or efficiency cost.” How can
the analysis of excess burden in tax policy aid in
choice between different goods in the economy?

(9)
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6. (i)
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Look at the following data for country A :
C=285+ 0.5Y,

L=85G=60;T=—_40 + 0.25Y
Disposable Income : Y= ¥Y-7T

Equilibrium income : Y = C+I+G

(a) Calculate the equilibrium income
(b) Calculate tax collection in equilibrium

(¢) What is the level of Government’s Budget

Deficit or Surplus in equilibrium? 9)

.. E i ]

e dF: Y

2

t spending multiplier. Also

9)

(i) 7 A for Ffer a1 2R

= 85 i O.SYd
~ 85; G = 60; T = —40 + 0.25Y

waea s@: Y=Y -T

cC+1+G

Il
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S

y and

erve ratio in

(9)

i S
what is the role of the required re

this process?
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(i) How does the central bank conduct open market
operations? Discuss the mechanics of it in

detail. 9)

(i) ﬂﬁnm%wmwwméaﬂrw
mﬁmmmﬁmaﬁwiﬁmé?

(ii) %ﬁuhgﬁwwmﬁmwm%?
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of this question paper.

Attempt any five questions,

All questions carry equal marks.

Use of stencil is allowed for drawing outline of maps.
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but the same medium should be used throughout the
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Discuss the concept and different types of region with

suitable examples.

UG JAEN & WA AT F IJEUR 3R AR e w
=

What is formal region ? Discuss natural and cultural

regions in detail.

sit=Rer & = 27 Wighaen e At o @ AR A
@ w
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3.

Discuss in detail the tropical and tundra regions.

SorERE Sk Tq A W e A A

What are the different industrial regions of North

America and discuss any one in detail?

I IR & fafeT sieifis 8 99 X 2 & v &
fomr 3 9o +:40

Describe the industrial regions of Europe and Elaborate
any one in detail

Ty & fafeT sitefire & @ avf o e Rl o
famr & anfr &

Describe major cultural regions of the world given by
Russelland Kniffen. ,

?%H??HW%TQUﬁW‘Wf@W?%HEﬁﬂEﬁ%ﬁéﬁ?ﬂ
U T
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7. Discuss the economy and demography of South Asia

#wvﬁmaﬁaﬁmawaﬂtmmﬁua%wwﬁ

8. Discuss the concept of functional regions.

Emiﬂmé?fa%aawnmavhaﬁﬁm

Write Short Note (Any Two)

9. Wow A o (ad )
(a) Administrative region
waaEE &
(b) Perceptual region

HIURUTE: &

(1000)
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(Write your Roll No. on the top immediately on receipt of this question paper.)
This question paper contains two parts. Both parts are compulsory.

Candidates are required to answer Al/ the questions from Part A and any Three questions
from Part B.

Questions in Part A carry 10 marks each, and queStions in Part B carry 20 marks each.
Part-A

. (@) What are the universal properties of human language, and how do they reflect the unique
nature of human communication ?

Or
(b) Explain why ‘arbitrariness’ is considered a key characteristic of human communication ?

2. (a) Write a note on how one’s linguistic repertoire (overall acquired linguistic skills) determines
the way one communicates in different social settings ? Explain with reference to the
use of English in India.

Or

(b) Write a note on the ‘optimization theory’ proposed by Tej K. Bhatia in his essay, ‘The
multilingual mind, optimization theory and Hinglish’.
P.T.O.
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(@)

()

(a)

(b)
(a)

()

@

(b)

(®)

(2) 3134
Discuss with examples what is referred to as the ““critical period” in language learning ?
Or
Write a note on disability and its representation via language.
Part-B
Discuss critically how language helps in shaping an individual’s identity.
Or
Globalization has prompted multilingualism. Do you agree ? Argue with suitable examples.

Trace the historical development of Indian English from the colonial period to the present
day. How has it evolved as a distinct variety ?

Or

Why is Indian English considered a unique form of English ? How has it developed to

meet the communication needs of people in India ?

Explain how language can both empower and marginalize individuals with disabilities. Use

examples to show how language shapes societal perceptions with regard to disability.
Or

Examine how language reflects and reinforces gender roles and stereotypes ? Provide

examples to support your answer.

Describe the differences between language acquisition and language leaming in the context

of your own experience of society on the one hand and the classroom on the other.
Or

Discuss how language can act as a social marker through dialects and varieties. Provide

examples to illustrate how these forms vary with factors like region and social class.

2 ' 100
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Calculate the expected return and total risk for a

security XYZ with the following return distribution :

Return (%) 15 -10 20 40 10

Probability (%) | 10 20 40 15 15

(8+10)

Explain Efficient Market Hypothesis. Also, discuss
the differences between fundamental analysis and

technical analysis. (8+10)

Explain different types of investors using the utility
analysis and indifference curves. Also, do you agree

that no investment is risk free? (12+8)

Explain the EIC framework in detail. (18)

Does diversification lead to reduced risk of an
investment? Explain with suitable example. Also,
discuss the portfolio management process in detail.

(9+9)

4314 3

T

Write short notes on any two of the following :

(a) Hedging, Speculation, and Gambling

(b) Direct and indirect investing

(c) Approaches to security valuation (9+9)

(a) Explain the importance of tax planning in
wealth management. Discuss how tax-efficient
investment options can impact wealth accumulation

over time. (8)

(b) Mr. Rajiv invested ¥1,00,000 in a mutual fund that
provided an annual return of 15%. He falls under
a tax bracket of 30% for income tax. The inflation

rate during the year was 6%.

(i) Calculate the Post-Tax Return on Mr.

Rajiv’s investment.

(i1) Calculate the Real Return on his investment

after considering the inflation rate.

(10)

PT0.
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7. Write short notes on any three of the following :
(3x6=18)

(i) Components of Wealth Management
(if) Systematic Investment plans
(iii) Estate planning

(iv) Investor Life cycle approach

(1500)



‘0'Ld (00S)

"PIMO[[E ST J0JR[NO[ED JLUAION-UON JO 88} f

ssuonsanh pu ey ¢

doadued uoneenh vl g0

1draoa1 uo Aierpawrwt doy a1 uo "ON (|03 INGA WA

SHpIPpuNy H0) SHapnNy

06 : SYIBRN WNWIXBN WANOHL ¢ L NG

41 Rt L ELTEE S

JDDN “(sIsA[RUY JUIWISIAU]
[BIOURBUI]) UONBISIUIWPY

ssaulsng JO lojayoseg AN Y BHE 0 BN

() SINAIS [elUBUL]

pue Supjueg Suisiowy Pt B RN
P00Z00bT6T Py anilig anbiig
| [p0c ¢ Andug URRRENE I8 N N

uonisinbay pue 1319 (9)

--.o--l.lﬁom—ml—_ mmﬂ— —m EM%
R R TN L2 LD syueq [euOnIpel) pue syueq ooN (q)

[‘sofud pajurad p supmiuon INHu Wt sy 4 1v0¢

nto¥ 2a( mzu sYS _




OLd

‘[ru-anfea deidos ‘sieak

Auedwod UOIIONIISUODAL JSASSE [RUOLINL (W) § 21 “000°00S$ 150D jwowdinbg ay) Suiseyoding ‘e

(81=7%6) :PaIAPISUOD

'SULId] SUIMO[[0] Y} JO OM]) Auk U0 210U OGN STHAL - & suondo "%0¢ JO 193oriq XxB} Ul S[[E] Auedwo)

quowdinbs moau oseyoind 10 9sed] 01 IAydYM

(81) UDDININ DALY f
_ Huropisuod pue suonerado sy Furpuedxo si Auedwod
0 1481 oy} ul erpup ul spuny [eirded 2UNUIA JO AN . I
39 JARH oW VL SIEEL Tl td 190 _ _ Ay ] ‘suonnjos ASioud a[qeureisns ul Furzieroads
juousaAul jo agels pue ssaoord ‘(04 Y uindxg wdn
/ I Wity A8ojouyo?d) pazis-piw e St suonn[og 1O ¢

-3Ie)s JO $S209ns oy} ur Ae[d 01 9]0k Fiq ¥ SAUY NP
[e11des aInud A "Y' S[) 193J8 PAOM Y} UL WAIHAROS i

11818 Hmvwhm_ puodas a3yl sey BIpU] .::_u_...::..__.__.__:::__..
e (6) JSuumonnsal pue

Kq 3j1odex ® 1ad sy ‘suiodiun puw ST R
§UI10J01 [eIOUBUI Oy} UL saFua[[eyd dyy ssnosig (9)

JO qny B 2wo0do2q sey eIpuj “apedap sk il dupangy 0

(6) ;sarouage

Junes 11pa1o jo sarfojopoylow Yy are jeypm ()

(81) ‘JUQUI)SIAUT WO uInjal su widugy dupneem

10} 08 prnoys 11 uondo yorym Aundition i) SIS

() ‘Ripu] Ul toneZNLINAS Jo 1dadu0d oy} urefdxy (q)
ANIB| AHBA

-¢ 103 uow 1ad 00001$ quawdinba oy SRR (6) (Suroueury 2InjudA Jo ss0004d o) ST JBYM ®) -1

()

Iv0¢

£ [




‘O'Ld

‘PIMO[[E JOU SI JOJR[NJ[BD B JO SN YL ¢

‘syrew [enba Kireo suonsanb [V ¥

‘10195803 poydwone aq 03 uonsanb ayy jo sjred ylog ¢

‘uonsonb

yoea woiy syred omy Sunodes £q suonsaonb [eydwany '

‘1oded uvonsanb siyl jo

1d19001 uo Aojeipawuit doj oyl uo “ON '[[0Y mok ajup 1

SajepIpue,) 10j suoINIsU]

06 : SHIB]A WNWIXBN sImoy ¢ : uoneing
I 191S0W2g

(AT} JLIUID)

SdNOUO H0Ud NOWINOD 9sIN0)) 2y} JO AWEN

suonenby [enuaiaiq deq oyl Jo aweN
100200¥SET - apo) 1adeq enbiun

| 090¢ : Jodeg uonsanQ) jo ‘oN “I§
-..-:....::-QZ ~—=~H .H-.-O.?

['safed pajuud  surejuoo saded uonsanb siy ]

hzop 239 (N) 2585

(o00€)
(L) ‘@ = “ny + Pnp — Fn
JO uonnjos [BIAUdF ay} ureiqQ (9)

(s°L) @ = (0 “©a pue x = (0 ‘X)n yum

‘0= *av - a ‘a,a="nn+n
SWa)SAS anjeA [enIul Ayl Jo uonnjos ayl puid (q)

(s°2) .ANA%.H + NHV dxa = (£ ‘x)nst

a2 = (0N L (hx) = ;“nx + n L

wapqoxd Ayone) 2y Jo uonnjos sy eyl
moys (0)F + (x)f = (4 x)4 pue n uf = 4 Suwsn (8) 79

(s°L) m=fn +
uonnjos [e1ouafayl pulj pue ULIOj [BIIUOUED
ojur uorenba [ENUAIoIIP SUIMO[[O} 9} 2ONPAY (2)
(L) ‘0 = *n(, L + X)Ax + ‘nzx - *nzd
uonjenba 2y} jo uonn[os [e1oudd Yl pulg (q)
(s°L) X = A uo (= newep Agone) irm
22X = ‘nd + *nx uonenbd ay1 Jo UOHN]OS AU} PUL] (®) -¢
‘uorN[os [BIAUIT Y} AILIM

(s°L) A+ X7 =— ~a¢+kaMm.|
Ap xp

14 090¢



‘O°'L'd
WA INAN

Ieaur| snoauaSowoy ayl jo g> 1>V v [RAISIUI

K19A2 uo suornjos juapuadopul Apieaul] om} aiu

1-3— = £ @ =% pue .J_mm =4 ,HmmN = Xyl moys (0)

N
(s°L) r Ap ~ xp
wp p

2 = Ay — ——

A - Ap ’ xp

walsAs deaul] ayl aAjo0g (4)

xp 2XP
. ‘9 — X¥ = A9 + — X — =,
(sL) 9 14 9 X 4 Cp' X

uonenba [ENJUAIAJJIP Y] JO UOHN|OS [LIDUIT AL puly (W) “p

P
(c°L) %700 m £ 4 Dl
A,p

:DCm:TD [enualajjip Ay} JO uonnjos :_._..:.._..“ Sl

puij 0} siojoweled Jo UOHBLIBA JO POUIAUL BIf) ANf) (3]

(s°L) Gy + 0 4 ASR
- X% S00 = Ay + 7
L ¥ 14 1::- A,

uonenba [enuAIdJJIP Y] JO UONN[OS [raauad o) puy

0] SJUAIDIJJI0D PAUTULIIAPUN JO POLIAIL B[} SE} ()

3 nooy

X
(s'L) 1-=(0) 4 c—=(0)f 5n§~+|umlwmm
Ap £,p

uonenba [BIIUAIAJJIP AY) JO uonnjos 3y} pur (8) ¢

(¢'4) ‘-1o1owered oY) SI B AIOYM XD = ASIAIND

jo Aprwrey oy jo sarrojoafen [euofoyiio ayy puiq (9)

(sL) 0 = dp Ax + xp (X + A + X)

uonjenbs Buimoy[oj

A1) DA[OS 202UIY pue 10)OE] Suneigojur ue purq (q)

o Xp
(6°L) L x7— = _\ﬂ._llR
¥ 9 (4 \ﬂﬁ
uonenbo [enuaIdyyIp 2yl 2A[0S (8) T
(s°L) Shex XP
£,x Ap
uonenbo [enuaIdyyIp 2yl A0S (2)
(§°L) 7 = (0)4

) = Ap (4 - durs x - X) 4 xp (4x¢ + 4 02 XT)

wapqoad anjeA-[eRIUL 3yl 9A10S (q)

(S°L) 0= A7T 4 wﬁe.lwunlm o
Ap &,p £ep

Honenba [BIIUAIIIIP oY) JO UONN[OS € ST 4,2 = (X)/f

HO1OUNJ 9Y) YIIYM 10J W Jo sanjeA ay) aurwidReq (8) [

[ 090¢




(W) 2598

ko) 2 Lol 2 1o belllEp ke
Bolelip M IER pab i |2 Rl bk PRyl
b BB B blp ke e kIS |2 1Bl Bk, -13%
B 3 e Llokdr % lblr 13 klkb kb BIE lEkR b
Mirjop) 12k 2 R M Bl 13 2k Bua b By
‘Iple 12 kbl DI DIp AuENIE |l 1BSh h2 Db Blbd
2 -2 Ilkle |2 2b B2 -5Er 4] 126 Iblbo LkbE
eBr Bl Sh Q2 lue ‘Bl 12 b3Ye bl Lp bk ()

ok lmelm bl bk

‘O'Ld

| & blbljie 13K i
| ABR| tlissie
lbhie 2h blkd BMIREL dlr 22| 2h® |2 PRI % Eh-bik BE

1

C

1

EpE] 5 & [EIS

06 : SYIBJA WNWIXEWN SINOH € : uonein

1 § O 191s2Wag

IpPUlH < "qA"D -

(v) uerey)
UPIAIA Y SBYIA BApED IPUIH :

2SIN0D) Ay} JO QWEBN

1adeq ay) jo aweN

100260SS0T opo) Iadeg onbrup
I 160¢ : Jodeg uwonsanQ) jo ‘oN ‘IS
................ N [10y inox

['soSed pajunid 4 surejuod 1oded uonsanb sryp]

hzoe 29

(oos1)

(9) lpled (k)
lplaw Rk ()

SDENR) o2} 2h DD )

(1) 1oy lnkiEb] 1b lbdkk Milke lr  BUS It EDID
IRRIS

| ey

Albhish] ER|IR e bIR leh, dh AREE  Lelbd bbb,

(st) RIICS
lohidtb} 1 BBk IBheb 1 Ikl B 25 1 e Kbl
B2l il

1apAR] BIRIK 1b Bk 2RE,

(s1) A0 llek 1 bkt 1@
el Bk pp MNiEhE b lebbh bibblle bRk b bRk ,
PR

1R 1EIPK dh lebbh Bl L |3t ) Rkl

(s) | hea)
Albhigh] L Indiap A3 b 2k WWIE 1 BRI e linh
2]l

| diollp khalh balelp 1 Bkl 123l 7

14 160¢



‘O'L'd
(rz=¢x8) LR
pip €5 ‘b b (20 220) B 1wk Mb HA bR
BUS b DR} BLE 1R k1 BRYD ke hek @ 0
2 Il bR LIS BB AU ot [pbb (Bl Ll
i o rhig o T 26T bin e ‘bl 13 10 I ik
2@ - lkhie ‘U BIR BB IRt kbl 22 bio Rpjleib)
Lol 1@ lblr Bth MRS o B2l 2k R bR @ DIE
R 5k Lo b pein Uk ki oy bR - o ok,

1BRIS

lbp) SIB k> flgep pie-pe b 240 prh - prh
B 1Bk} Uk lbb |2k ©b bie ‘bl ke b LDl
I 10 2 dbhis k3l bB j WOIB Blh kB 1§ LR 4
Meb| e Rl (o itk RI2eB %) 13k [0 IRUE M I [k
12 1blie blbie B Ik R 13b 2h ‘e B2 Bilbend i e
bpj 2xeh-bb 22 1Sk |8k B Gue biEh h 1@ th
BlEh Al |2 BB blh e Blelb K BRI [ ERE R,
1 12 kboK b3 Lb ladhlf
Db e Rl 2e-2k e HP3 AS @ Ak ik b
(ke i % bbln o kaBle e RIEK b k2R d Wit
28 ph pr kot G b IR 1BOB Bbik ke (R B i
kR kb 1 R BUSIE kR ERRE QU & BRJK U
bp b ‘g IBthh Un IOl R |blboMio Bl 2 kdjlik I M
-lbile Bbheb - Pled] - Rhie ‘BliE ‘blieh - lople [
12 th R 2ol s BB Lb kbUn 12 bap-imli Uy Nl
1 bbik ‘I IRlhte ‘b Lkl 1@ BR2-2elk Ihlls [ el

£

(1)

160V

— e T ———— -

Jlslca oy

1 RISk RIS e L
b Sk R bIn ‘g DI Ll BMb Sl -lSlk @ bk
R B2 ‘AUs g b Bk Rt ] b bt DS Qe
b i) % b bb BE AW LBE 13 BB lkab Lo
Mp - b Riehiel gb g 12 2B e BUNE 0 g
Bhj 3 P2b bbis e LGk e bbb 1b bl 12
Rlek hb -t |2 b b (b [P ] @ B2 Dis 2klIE
bep) 1BY td |2 k kinbl @l Raf b IDIDE HE
B 1@ balte bl 1o 3 Blb k2t bER 2RI kb

| Bl Lo, Rl R 2k
BRE 2 U Lep Lo Pl PEE kb hB Bh b 2
Wp B Bl Blh P kb @ ikl U 120 @ -2
Bibap) Bl Pl - R 12 2h B b (208 Ll Lz 1Sk
Jelible I21Ylel| od blE 13 ‘lp P22 B2 APAL A -RE
Pih 210 blp B U2l 2 I 2h 2R R 24 B2
AE BE) B Digk I 2D b kibD bbb b 2k
Il kb 1f @ ‘hie Bl k2B e b 12 12 bih
[l 1BRE 112 16> j Bl lehie b2 20 ek 1Bk
Il MEMBE B2 R 20 1Ri| B2 f BIS Bhib LBE 2b
I 1lbl) 1Bh I8 D kR Lo kb ke kloph EB

lpRe

[4

160¢




[This question paper contains 8 printed pages.]

Your Roll No....covuvnranns

Sr. No. of Question Paper : 4308 I
Unique Paper Code 1 2274002010
Name of the Paper . Principles of Microeconomics Il
Name of the Course : Common Pool of GE

ECONO027
Semester - IFEEN
Duration : 3 Hours Maximum Marks : 90

Instructions for Candidates
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of this question paper.

2. Attempt any 5 questions out of 8.
3. Each question carries equal marks.
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rium price determination of

2 e X Y e dter weA o IR AN | 2. (a) Compare equilib

TAF W B FH A |

T W - T I IR Fren a1 B B g s ¥ A, o
Tt I 1 AT UF € B e |

Write short notes on any three of the following :
(6%3=18)
(a) Dominant Strategy

(b) Screening
(¢) Nash Equilibrium
(d) Private goods

(e) Club goods

frfafer ¥ 3 Faeedl < e i R e
(&) s o

(@) whfEm

(W) A Fge

() FoR @m

(¥) =@ @™

the oligopoly market with that of the monopoly.
©)

(b) While having a debate over the market structures,
one of the two participants asserted “A monopolist
faces a downward sloping demand curve, which
limits his control over the market”. Do you agree

with this statement? Give reasons for your answer.

9)

(@) TeRER T D W FENRER qEW & GG T
frefier &t goen Ao

(@) mmﬁmmﬁw,%mﬁﬁi%w
A TR IS FE o W g A AR
mﬁﬂwmmm%,ﬁrmma@
mﬂﬁmmﬁlwmmwﬂw
37 ¥ SR B g FRU S

(a) Explain price discrimination using different

examples. Q)

P.T.0O;
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(b) Explain the role of advertisement in monopolistic

competition. (9).

(%) B Semell = swim @@ wwr Rt =
e FHifsig)

(®) vemfererr sfiered ¥ fasmer ot s = e SR

4. (a) International trade benefits only the country which
has an edge over the other. Do you agrce?
Elucidate using the relevant theory of international
trade. . (9)

(b) What is a tariff? Which of the two involved parties
in international trade imposes it? Use relevant
diagrams to explain its impact on the imposing
country. 9)

HM@mwﬁmwhﬁmﬁﬁﬁ@
Q?Wmiﬁmﬁ!mﬂaWHﬁﬁﬁ?aﬁﬁﬁme?%
; wEhE freid W e e W Fif)

(@) ﬁﬁiﬁﬂ??aﬁﬁ@uammi¥mﬁaé1w%§iiﬁh'
Eﬂammﬂ?wwﬁﬁaﬁﬁ?ﬁﬂm@ﬂam%qmmmﬂ
W W WD AWE ) aEn Hifw
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V5.

Discuss how externalities can lead to market failure.
What are the potential consequences for social welfare

when externalities are present? (18)

w4 Fifo & aREY ffe vER TR & RAwdar @ SR
awam@%ﬁamm@mﬁﬁﬁgﬁéhmmﬁﬁﬁmmm?%ﬁm
awifaw aRom = 87

Differentiate between public goods and common
resources. Provide examples of common resources
and discuss the challenges associated with their

management. (18)

AT T AN AR FEAEE B A JaA AT wR
amMQW%ammwumw#WWQﬁkam%wmnﬁtqagﬁﬁﬁ
W oaE i

(a) Suppose that labour is the only input used by a
perfectly competitive firm. The firm’s production

function is a follows : 9)

) Sl 120
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Days of labour Units of Output
0 0
1 7
2 13
3 19
4 25
5 28
6 29
7 29

(1) Calculate the marginal product for each

additional.labour.

(i) Each unit of output sells for Rs 10.

Calculate the value of the marginal product

of each worker,

(iii) Graph the firm’s demand curve.

(b) Give two examples of events that could shift the

supply of labor and demand for labour and explain

why they do so.

%)

4308

7

(m)mmqfa;qu;hwﬁwﬁﬁmam
o s aren v WYe 31w o SR Be

wm?:

s @ e HITYC & FeTEAl
0 0

1 7

2 13

3 19

4 25

5 28

6 29

; 29

(i) W= sfoRea sm @ fog Swa Iwme & e

Eaimed]

(i) smSege i 2w THE 0 T A RER )
TRAF Afw @ GG IOR D q A TR

Fiforg

(i) wF & AT IH T AG TN

P T.0:
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(@) W TS ® A Jewn AR o A A AW
s &t WA Y ded Eea & IR ewensd % 3 v
= T B

8. Compare and contrast adverse selection and moral
hazard. Provide examples of each from real-world

scenarios, particularly in labour markets. (18)

e T R AR e i ge o) Artas g
& uRgwdl, AW &1 ¥ 5@ AR ¥ FEAF D IECT
g

(2500)
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: BEGINNERS
Name of the Course : COMMON PROG GROUP
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Instructions for Candidates

| 1. Write your Roll No. on the top immediately on receipt
of this question paper.

2. Attempt all questions.

3. All questions carry equal marks.

4. Answers may be written either in English or Hindi;
but the same medium should be used throughout the

paper.
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[l wE I |
Tt v & i T B |

Q?TFEFT—tFi?ﬁTifFR'3ﬁ$ﬁﬁfﬂf§§Tﬁ¥ﬁﬁtﬁﬁ
T IR A TR & B =y |

sy 3 Afore, Al

(a) What is meant by the Marketing Mix? Discuss

marketing is essential for both customers and

why
society.
pts an inside-out approach,

(b) “The selling concept ado

while the marketing concept follows an outside-in

ain this statement using suitable

approach.” Expl
(15)

examples.

OR

(c) “Modern marketing involves a comprehensive
process of identifying, evaluating, and satisfying
human needs.” Discuss this view. Additionally,

explain how the socio-cultural environment
influences a firm’s marketing decisions with

relevant examples.

(d) Outline the stages involv

ed in the consumer buying

3257 3

decisio u

n

process. Do all consumers go through
g

each sta i
ge when purchasing products like sha
or personal computers? o

(=) ‘ﬂﬁﬁéfrfﬁaﬁiiﬁrzﬂﬂ‘?nawﬁ‘%? = B e TR
WS SR W AN D Bre w9 wEd 3

(ﬁ?).;fid%‘aﬁ SR S A A A g |
SRR B1” I9TE JETEN o ITANT e
T AT W e R

ar

Wﬁfﬁwmmmgi,,w
W W e e R,y _E%
ERIED] A SR & W
=néﬁ%ﬁrfa? : - A el e @
ol = D7 wle = 2

() Sl @@z Fofa wfer & ol o
TN T S e @ FYE A
ST @lE T T W A oy 37

P.T.0,
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2. (a) Define consumer behavior. Why is it important
for marketers to analyze consumer behavior?
How do psychological factors such as perception
and motivation influence consumer buying

decisions?

(b) Interpret the statement: “Market segmentation and
product positioning are the foundation of marketing
planning and strategy.” Discuss the various criteria

a business can use to segment its market. (15)
OR

(c) What is product positioning, and why is it designed
to influence consumer perception? What are the
key differences between targeting a market

segment and positioning a product?

(d) What do you understand by the term “product
mix”? Illustrate the product mix of Procter &
Gamble and its reflects width, length, depth, and

consistency.

(=) IO SraER @ R e e @ foe
ST SRR T AT S A WEeEl 8 7

3257 5

R RO SR FAAF TR U @de ok @y
Y wlRE = &7

(@) =uT & =en Fife “aer e stk 3ae Rty
e e st wEify @ S 217 e e w
= i R v @ e s aeR @
fwfim = @ fow = @@ 2

T

() See R Frefor @ 2, st @ Sosie awom @
Tl A & forg = Rmeer frar w27 aoiR @8

@ Wl iR See R Rl frefor @ e s
HeR w87

() s “Ieare Rrsgor” wer ¥ o TR B9 Wierew vE e

& I R 3 Riftm e it gee <, oS,
B AR Rerar = T

(a) Describe the different stages of the Product Life

Cycle. How do businesses adjust their marketing

PO
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approaches when a product reaches its maturity JEET Eifsig

stage?

(b) Why is branding significant in modern marketing,

and how does it benefit both companies and

consumers? Cite suitable examples. (15)
ER LR i e — TR SRR ¥ S
ok AR R 7
(c) Why is effective communication critical in y ]
' (%) “YA v Fasber @ w3 et 217 ooy

promotional activities? What are the primary

Waﬂ?ﬁ%%ﬁw—mmmaﬁ}
ﬁqﬁﬁmﬁﬂﬂmﬁﬁawﬁaﬂtmmﬂﬁﬁ
Waﬂ%%ﬁ?aﬁrﬁﬂ%ﬁmaﬂmﬁw

(d) “Packaging acts as a silent salesperson.” Comment 3
|

components of communication, and how do they

contribute to successful promotional campaigns?

and discuss how companies like Coca-Cola or

Apple use innovative packaging to attract

customers and reinforce their brand image. 4. (a) How do penetration pricing and skimming pricing
differ in terms of strategy and objectives? What

(%) S SieT =% & ffte =Y @ v SR s factors would you consider when deciding between
1S e I GRTEEr sraer ¥ vEaa # Y Ean penetration pricing and skimming pricing for a new

I oo e o DY qEEiiE @ 27 high-definition TV?

(b) Recommend a promotion strategy for a company

(@) sy faque ¥ i @ wweaget 2, st 7 watEr planning to launch a new toothpaste and justify
IR Il A DY A e 27 I9ga

P.T.O.
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your choice and discuss the meaning of promotion
mix, and its main elements? (15)

OR

(c¢) Describe the different types of distribution channels
with examples. Why are distribution channel

choices considered crucial for ensuring the success

of a product?

(d) What are the main features of retailing, and
how do they distinguish it from other types of

distribution?

(%) wrifd sk SRl & wof & W g Pk sk
Reerféfr per foreieor ¥ e i 37 v Y w7 - e
& & fore waw e Frefor st Rerfit wea Fufor

C & A vl Y wm s R @Rl W RER
Hitorgar ?

(@) v 72 ToR diFd e @ A e O e @
fore oo wem oFfy o RwiRe e sk s v

3257 9

a%sﬁaamﬁﬁahnmtﬁwwﬁ%a&éhgm%gar
T W aife?

B

(1) el wfew fwor el @ e woRr @ Ui
ﬁﬁwlﬁﬁiaﬂmfﬁimﬁmr@ﬁﬁmim%ﬁ%ﬁw
faeror S el o weert W w27

(%) = it ot e fedoand o 2, o ¥ =3 srer
& fawo ¥ R s w27

(a) Discuss the growing role of rural marketing and

highlight its significance in India.

(b) Push strategy is better than pull strategy for FMCG
and vice versa for industrial products. Comment
and differentiate between push and pull strategies

of promotion. Do you agree? (15)
OR

(c) “Sales promotions act as a bridge between
advertising and personal selling”. Elucidate the

statement with respect to the growing importance

L0 L
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of Integrated Marketing Communication,

(d) Discuss the significance of advertising for the
manufacturers, consumers and the society. What

is false and deceptive advertisement?

(@) Wﬁhﬁ%ﬁvgﬂ?"ﬁ%gamﬁﬁr%%m%aﬁr
aﬂﬁrﬁmmﬁéﬁrqsa%ﬁwﬁmmaﬁgwaﬂt
gawﬁﬁ@%%ﬁaﬁwﬁaﬁ@?ﬁTmﬂéﬁmwmn
Y gEad 87

ar

() “ﬁaﬁmﬁmwaﬂtmﬂﬁmﬁﬁ%ﬁhwﬁg
mmm%”r?ﬁﬁmw%mm
‘ %”mmi¥am#aﬁvmréRM1

() e, Swiems aﬂtm%%qﬁmqa}wm
W == F g sk s fasmeT =y 27
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6.  Write short note on any 5 of the following : (15)
(a) Niche marketing
(b) Qualities of a good salesperson
(¢) Brand name vs trade mark
(d) Sales promotion schemes
(e) Micro environment vs Macro environment
(f) Cognitive Dissonance
(g) Sustainable marketing
(h) Impact of Digital marketing on business activities

(i) Importance of product labelling
Fefafee ¥ 3 faedt 5 w dferd feomit fyRee -
(F) M wefen

(@) a3 fadar = Lkl

() s W s e

P.T.O.
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Instructions for Candidates

1. Write your Roll. No. on the top immediately on receipt

of this question paper.
2. Attempt any five questions.
3. All questions carry equal marks.
4. Use of stencil is allowed for drawing outline of maps.

5. Answers may be written either in English or in Hindi;

but the same medium should be used throughout the

paper.
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sl @ fog Fdw

= WE-7F & faad & g Ry e AR =@ W s
FATen forlag |

=8 dfw we & IR ARI |

T WA & 3 T B

AR TR T @ fog RRw @ Iw @ s 2)

JeR ST AT BA X R 1 e §; Afte A a8 e
iy R IR ¥ IwEw e s 2

Discuss the concept and different types of region with

suitable examples.

3@@ﬁ3ﬂﬁﬁﬁ%1mx&adﬁammmnﬁhﬁﬁF#wwﬁqt
i T

What is formal region ? Discuss natural and cultural

regions in detail.

st o = 27 Wit vd aieplen e o faww @
o W

3160 3

Discuss in detail the tropical and tundra regions.

JwrERERE 3K T A @ fAER ¥ A W

What are the different industrial regions of North
America and discuss any one in detail?

9T RE & R siafis 8= @i | § & o o
R & TofF W

Describe the industrial regions of Europe and Elaborate

any one in detail

Ry # R stafie & @ i we g R T o
foer ¥ Ao *W

Describe major cultural regions of the world given by
Russelland Kniffen. .,

@ vd AR W Ry W fea @ e gt aeE @
Toi &

P T.0;



3160. 4

7. Discuss the economy and demography of South Asia

sferor ofirnm < srfemaeen sk SREIREEt W =t @Y

8. Discuss the concept of functional regions.

FRE & H FGURIT FH qU HIR0)

Write Short Note (Any Two)

9. dfera A ford (@i &)
(a) Administrative region
waEE e
(b) Perceptual region

HAURVMHE &

(1000)
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Sr. No. of Question Paper : 4314 |
Unique Paper Code . 2924002009
Name of the Paper - Wealth Management
Name of the Course . Generic Elective (Finance &
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Semester Sl

Duration : 3 Hours Maximum Marks : 90

Instructions for Candidates

1. Write your Roll No. on the top immediately on receipt

of this question paper.
2. Answer any five questions.

3. All questions carry equal marks.

1. Discuss investment environment in detail. Also, explain

investment decision process. (9+9)
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2. Calculate the expected return and total risk for a 7. Write short notes on any two of the following :

security XYZ with the following return distribution :
(a) Hedging, Speculation, and Gambling

0 _
il 12 L 2 40 10 (b) Direct and indirect investing

Probability (%) | 10 | 20 | 40 | 15 | 15

(c) Approaches to security valuation (9+9)

(8+10)

6. (a) Explain the importance of tax planning in

3. Explain Efficient Market Hypothesis. Also, discuss wealth management. Discuss how fax-efficient

the differences between fundamental analysis and ’ ! . ;
investment options can impact wealth accumulation

technical analysis. (8+10) aer Gie: 8)
4.  Explain different types of investors using the utility (b) Mr. Rajiv invested ¥1,00,000 in a mutual fund that
analysis and indifference curves. Also, do you agree provided an annual return of 15%. He falls under
that no investment is risk free? (12+8) a tax bracket of 30% for income tax. The inflation
rate during the year was 6%.
5. Explain the EIC framework in detail. (18)

(i) Calculate the Post-Tax Return on Mr.
Rajiv’s investment.

6. Does diversification lead to reduced risk of an

investment? Explain with suitable example. Also (ii) Calculate the Real Return on his investment

< : . ! fi sideri inflati ;
discuss the portfolio management process in detail. aficr considering the ioflation Tate

(9+9) a9

PIRO
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three of the following :

7. Write short notes on any
(3x6=18)

(i) Components of Wealth Management
(i) Systematic Investment plans

(iif) Estate planning

(iv) Investor Life cycle approach

(1500)
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[This question paper contains 8 printed pages.]

Your Roll-Neo:...cun.nas

Sr. Neo. of Question Paper : 2920 |
Unique Paper Code 1 2274002005

Name of the Paper : Money and Banking

Name of the Course : Generic Elective-Economics
Semester g 1l [ TR

Duration : 3 Hours Maximum Marks : 90

Instructions for Candidates

8

Write your Roll No. on the top immediately on receipt
of this question paper.

This paper has 8 questions, out of which 5 have to be
done by the student.

Each question is of 18 marks.
Please attempt all parts of a question in one place.

Answers may be written either in English or Hindi;
but the same medium should be used throughout the

paper.
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liquidity aggregateg?

(=) Wmﬁwm%%ﬁ i i e
Fiferg ?

2

2920 3

(a)mwﬁmaﬁqmﬁmaﬁmm
87

(a) How do financial markets suffer from asymmetric

information problem? What are the tools used
by financial markets to address this problem?

(12)

(b) ‘Transaction costs freeze many small savers and
borrowers out of direct involvement with financial

markets.” Elucidate. (6)

(%) facia s SR A e ¥ R T 27 =
maﬁmmﬁ%ﬁqﬁ?ﬁammmﬁq
W AT I w87

(@) DT-7 A SR T AR Iuraa
aﬁﬁﬁuwﬁ%miﬂﬁ@mﬁwa&t%ﬁ%v
WL i),

PIT.0.
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3. (a) Wh
y was there a need to move from bas
€ rate

lendin
g system to MCLR system? Discuss in this
con i
text the effectiveness of MCLR syst
stem in

p g

policy.
(12)

( )

5 i s
ompilation of monetary aggregates
3 (6)

(i) Sectorisation issue

ii) C
(ii) Coverage of Depository corporations

(F) SMER =R IUR wored ¥ wrligeam v ¥ o =
e w N7 @ W ¥ e A S www

T ABTR T F O ForeR i weadivern
W = R

(=) ﬁaﬁw*ﬁwﬁ
e #ifre e

(i) e

(i) FRdfred Fmt = T

2920 5

4. (a) Explain the rationale for the Segmented Markets

What are this theory’s major

(12)

Hypothesis.

weaknesses?

(b) Differentiate between 100% reserve banking

d fractional reserve banking system.

(6)

system an

(@) 100% Rsrd ARFT FOTER 3R sriferer Rt Afewar ored

& 9" Fae qaEwl

5. (a) It is not merely the number of instruments that

{s important but the number of instruments

exerting independent effects on the target

statement in the context of

(12)

variables. Explain this

monetary policy.

P.T.O.
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6.

(b) What are intermediate targets in monetary policy?

Critically examine the choice of the interest rate

as an intermediate target. (6)

(%) =a Iuawoll @ we § Heeunt AE 2, afew e
W W EET THE IO del SUEON @t gen o
wEaqt 21 WHifew AT @ w § 3@ wuT ot awrEn
g |

(@) wfew A F weaad weg @ &7 wemad wed B w9
¥ o W E TG H S Wi g

(a) Derive deposit multiplier and complete currency
multiplier.” What are the changes in deposits,
currency holdings and money stock if the RBI
purchases Rs. 1,00,000 worth of government
securities from open market when required reserve

ratio is 10%, desired excess reserve ratio is 5%

and currency deposit ratio is 25%. (12)

2920 7

(b) What is money? What are the l:ihysiﬁﬂ‘i Properties
(6)

of money?
S T SR T g A L
AT G SR ¥ 1,00,000 T T W

(%)

() T w47 @ P oA

k H 5
7 (a) Discuss the role of Reserve BanX of India 1n

lity of Indian

(12)

s b ) l
maintaining the financial stab

Economy.
(b) What is a Central Bank Digital CurTency? Why 1s

- it
Central Bank Digital Currency needed in India?

(6)

(%) wRAE e = fa fooren &0 TR A
foord ¥ e W T A

PR,



Functiong of Money

(b) Insurance Regulatory and Development Au

thority
(c)

Nationa] Housing Bank

(2500)



[This question paper contains 4 printed pages.]

Your Roll Nou.coeurerennnns

Sr. No. of Question Paper : 4502 I
Unique Paper Code : 2034002004

Name of the Paper | : Literature and Human Rights
Name of the Course : Common Programme Group:

GE-English
Semester v N

Duration : 3 Hours : Maximum Marks : 90

Instructions for Candidates

- 1. Write your Roll No. on the top immediately on receipt
of this question paper.

2. This question paper contains 2 parts. Both parts are
compulsory.

3. Candidates have to answer ALL the questions in Part
A and ANY THREE questions in Part B.

4. Questions in Part A carry 10 marks each and questions
in Part B carry 20 marks each.

P.T.O.
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Part A:

1. (a) Examine Winston Smith’s journey in 1984 as a
representation of individual rebellion against

oppressive authority.
Or

(b) Analyze the concept of reality in 1984. In what
ways does the Party’s manipulation of truth affect
the characters’ perceptions and the society as a
whole?

2. ('a) Write a short note on Tom Robinson.

Or

(b) Write a short note on The Education System in To
Kill a Mockingbird.

3. (a) Comment on the symbolism and imagery in June
Millicent Jordan’s ‘Poem About My Rights’.

Or

(b) Explain with reference to context :

“Education is the most powerful medicine that
cures violence. It strengthens the mind to resist
violence, to transform the elements of violence,
which are fear and loss of self.”

4502 3

Part B

4. (a) Reflect on the effects of ps_ychological
manipulation on characters such as Winston and
Julia in 1984. How do fear and indoctrination
influence their relationships and self-perception?

Or

(b) Analyze- the concept of Newspeak in 1984. In
what ways does the reduction of l'anguage serve
the Party’s agenda, and how does this reflect
Orwell’s views on the connection between

language, thought, and power?

5. (a) Analyze the significance of Harper Lee’s title, To
Kill @ Mockingbird, and its relevance to the

novel’s themes.
Or

(b) Analyze the portrayal of education and socialisation
in To Kill a Mockingbird, examining their impact
on childhood development.

6. (a) Nadine Gordimer’s ‘Amnesty’ emphasizes that not

just the exiled, but also the «exiled-from”, suffer
during Apartheid. Discuss.

P.T.O. -
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Or

(b) What is the main idea of Maya Angelou’s poem

‘Caged Bird’. Elaborate and Discuss.

think an enhanced literary sensitivity 18
ke an appropriate response t0
jons? Give a reasoned answer

7. (a) Do you
imperative to prove

human rights violat

using texts from your syllabus.

Or

some of the possible repercussions that a

(b) Discuss
es can cause in society.

neglect of human rights issu

ference to any prescribed texts

Substantiate with re
from your syllabus.

(7000)
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Your Roll NO..cccoaaremeees
Jracht Wﬁﬁ .............

Sr. No. of Question Paper : 2928 |
Unique Paper Code . 2294002004
Name of the Paper . Geography of Tourism
Name of the Course . Generic Elective . Geography
Semester/Annual 1
Duration : 3 Hours Maximum Marks : 90

structions for Candidates

In

1.  Write your Roll. No. on the top immediately on receipt

of this question paper.

2. Attempt any five questions.

3. All questions carry equal marks.

4. Use of stencil is allowed for drawing outline of maps.

5. Answers may be written either in English or in Hindi;

but the same medium should be used throughout the
paper.

P.T.O.
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Al & fog Fdw

1

89

T UF-TF & fien & g Ry v PR e w s
FehHen fofeg |

fereel dra weel =1 3= A

wft v & 3F e B

wAfE LR @ wEn @@ s 2

TH VI 99 1 IR A g1 B v F A, fFT o I
T AW U B B =i

Define Tourism Describe the interrelationship between

tourism and recreation.

TheT ol TRt &R | gded, 3R HARSH @ a9 siqdsy
H G |

Discuss the geographical parameters of Tourism as

given by Robinson.

AaT 2w fBu v gdew & wiifas dwier & e
e |

2928 3

Give an account of Nature Tourism and Cultural

Tourism.
WH Wed 3R AEpaw Wed w1 fFawr afsw
Discuss the rise of Medical Tourism in India

wRa A fuftrear wdew & Ieg W ==l W

Discuss the positive and negative impacts of tourism

on economy of any country.

fordt ot 29 & srferatar W e & GRS Ud ARNHE
WG 1 Jookd BT |

Give a detailed account of factors affecting

international tourism.

FRICH TieT T WA e At ERe! o g fae
EE

Elaborate the factors affecting growth of tourism in

India by citing suitable examples.

P.T.O.
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I ISTET 3 §Y RS H WA & e @ wfae e
A FREA F WE w

8. Evaluate the National Tourism Policy of India.

WRA & AT GheA A H OqeART FR

9.  Write Short Notes on any Two of the following
fefafaa % @ sl @ w aferm fewfiet o |
(a) Pilgrimage Tourism
W g
(b) Ecotourism
TiRfeafaw wdes

(c) Desert Tourism

=, § weT

(1000)
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What is World History ?

g zfeem war 27

What is Modernity ?
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How did World War I impact Europe and the wider
World? '
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were the significant causes of the Second World

8. What
War?
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1. (a) Show that the function defined by f(x) = (2x? +

2e%*+3)e % satisfies the differential equation

dy
g = x —2x
gy T2y =6e" +4xe

and also the condition f(0) = 5.

(7.3)

(b) Solve (2xy - sin x) dx + (x? - cos y) dy = 0

(7.5)
(c) Solve the initial-value problem
x sin y dx + (x* + 1) cos y dy = 0
s
W) = = (7.5)

2

4312

2.

8.

(a) Solve the differential equation

d
_.Ji.{.
X

2
d 5

(b) Solve the differential equation (x

2xy dy = 0 by first finding an 1

(c) Find the orthogonal trajectories of

2

i

parabolas y* = 4ax.

(7.5)

2 432+ 1) dx -

ntegrating factor.

(7.5)

the family of
(7.5)

(a) Solve the initial value problem

d*y

dx?

dy
dx

+8y =0,

y(©) =1, ¥y (0)=6.

(7.5)

P.T.O.
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(b) Use the method of undetermined coefficients to

find the general solution of the differential

equation (7.5)
d’y _dy

—_— 2 - 3x_

dxZ = 3y = 2e

(c) Use the method of variation of parameters to find
the general solution of the differential

equation

d’y
Ex_2+y = tan x secx. (7.3)

(a) Find the general solution of the differential
equation

4312 5

dz Y 7.5)
+ 2 41n x. (
x S +4x 7o =

Eif - ZEZ— Ix=t
dt gt i
g2 23 g4 By=2
dt
(c) Show that x = 3e’ty = 2¢e7tandx =e7t, y= .

ver
are two linearly independent solutions on every

i T
'nterval a<t < b of the homogeneous linea
1 =t =

system

P.T.O.
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Ue =yu, —y =1 (7.5)

6. (a) Using p = In u and p (x, ») = flx) + &) to solve

the equation
(7.5)

x2y, 2 +y2u,? = g2,

(b) Find the solution of the initial valye Systems

W —-2uu, = v=yx, Ve +av, =
(7.5)

with u(x, 0) = x and v(x, 0) = x

(¢) Obtain the genera] solution of

P70,



4312
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This paper contains three unseen passages and questions based on them.

I8e guestions are in fwo parts, A and B. Both parts are compulsory. Candidates have to

answer any three questions from Part A and any three questions from Part B.
Questions in Part A carry 10 marks each and questions in Part B carry 20 marks each.
Passage 1

Amid the mist-veiled valleys and ancient forests of Himachal Pradesh lay the town of Devgarh,
a place steeped in mystique and bound by tradition. Here, beneath the shadow of cedar trees,
lived a young artisan, a quiet but fiercely ambitious soul, whose aspirations often clashed with
the confines of an ancestral calling. Bom into a lineage revered for their exquisite wood carvings,
the young artisan had inherited not only the dexterity and discipline required by the craft but

also a restless curiosity that set him apart. Unlike his ancestors, who dedicated their lives to

PTO.
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preserving the symmetry and sanctity of tradition, this artisan sought to unravel the cluswe
mysteries of the universe itself. He harbored a dream far greater than anyone around him coulé

fathom—a dream to break free from the boundaries of Devgarh and understand the secrets

of existence.

One brittle autumn evening, an elderly traveller arrived in Devgarh, his presence as enigmatic
as the stories he carried. This man, with the bearing of a sage, bore an aura of ancient
knowledge that was both alluring and unsettling to the townsfolk. He spoke of lands far beyond
the horizon, where scholars pierced the veil of nature, probing the very fabric of existence.
The young artisan, who had long felt trapped within the invisible boundaries of Devgarh, found
himself drawn to the sage’s words with an intensity he hadn’t anticipated—a fierce longing

to transcend the smallness of his world and delve into the unknown.

Seeing the spark of ambition in the artisan’s eyes, the sage offered a cryptic warning cloaked
in gentle words : ““The quest for wisdom is as perilous as it is illuminating. Seek it, if you
must, but know this—those who chase enlightenment without caution often lose themselves in
the shadows cast by their own desires.” Yet the artisan felt a force within him urging him
onward. To remain in Devgarh, to follow the well-worn path laid out for him by those before
him, would be to deny a part of himself that longed to understand, to grow, to see beyond.
The sage’s words did not discourage him; rather, they deepened his resolve. It was in this
moment that he understood-while the journey ahead was daunting, the real risk lay in never

attempting it at all.

Thus, the artisan embarked upon a journey, one that took him far from Devgarh and into

the silent, dusty aisles of libraries and archives. He consumed rare texts with a hunger, immersing
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himself in ancient philosophies and theories that hinted at profound truths. With every page
he read, he it 2 thnill but also a growing unease—a tension between the ideals of his ancestors,
who prized bumility and purpose, and his own relentless pursuit of knowledge, which now
bordered on obsession.

Ome eveming. as he was reading a manuscript in a dimly lit library, a line leapt off the page :
~The pursuit of wisdom demands sacrifice; for every truth claimed, a part of the soul is
sumendesed "~ A chill gripped the artisan as he grasped the meaning of those words. His quest
5ad become a lonely pursuit, isolating him from the warmth of human connection. As the artisan
retrmced hus steps back to Devgarh, he returned not as the same restless seeker, but as one
who had glimpsed the vastness of the universe and understood his place within it. He carried
with him not only knowledge but also a newfound humility and reverence for the wisdom of
fis ancestors. Upon his return, he blended his insights with the traditions of his craft, honoring

both his heritage and his journey. His creations became a testament to the balance between

tradition and exploration, a reminder that true enlightenment does not require forsaking one’s

roots but rather embracing them as an anchor while reaching for the stars.

In the end, the artisan learned that life's greatest journeys are those that lead us back to
- ourselves, richer in spirit and wiser in heart. His story became a quiet legend in Devgarh,
inspiring others to seek, to question, and to grow. For in every journey, no matter how far
or daunting, lies the power not only to change our world but also to help others find the
courage to step into their own. And so, the artisan’s legacy became not only his art but the
reminder that greatness is bom not from leaving behind but from carrying forward, transforming
the familiar into the extraordinary.

(742 words)

P.T.O.
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Passage 2

As I stand here today, I reflect on a Journey that has brought both challenges and trium;
I have had the privilege of building a business that now stands as a testament to resilienc
and vision, reaching milestones that I once only dreamed of, But my success did not come

without its battles. I am not just a woman entrepreneur; I am part of a legacy of women

who have broken barriers, redefined expectations and transformed what was once considered

impossible into reality. Each achievement, big or small, has been a triumph over doubts cas
not only by others but sometimes by myself, as I grappled with the weight of being a pioneer
in spaces where few women have tread. In an industry where only 10% of executive positions
are held by women, my journey is a reminder that talent and tenacity can—and do—surpass
limitations society may try to place on us. This is a moment to honor not only my personal
achievement but also the path forged by every woman who has had the courage to push beyond

boundaries, to redefine norms, and to inspire others along the way.

When I embarked on my journey in the business world, I encountered a wall of stereotypes
and limiting expectations. These weren't based on my skills, ideas, or competence but rather
on my gender. I would receive polite nods, courteous smiles and gentle suggestions to consider
a ‘more suitable’ path—as if my ambitions were somehow misplaced. It was suggested, ever
so subtly, that a woman’s ambition could be daunting and that I might be better accepted
if I toned it down. But I was determined to defy these expectations. I refused to Jet my dreams

be diminished or confined by others' fears or outdated beliefs,

This journey was never just personal for me. Each achievement represented a step toward
dismantling the barriers that held back not only myself but countless women who might follow.

Statistics show that women are still 18% less likely than men to be considered for top positions,
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yet our determination remains steadfast. To every young woman here today, I want you to
hear this loud and clear : don’t let anyone else define your ambition. Your dreams carry a
legacy. They tell every woman who dared to hope and every young girl wondering if she

belongs, that yes. she absolutely does.

Thsoushout my career, I've seen how biases can obscure talent. I've worked twice as hard
Sor secogmition that sometimes came half as readily, navigating an environment that often views
semSidence as a virtue in men but a challenge in women. But my story isn’t unique—it’s the
shased experience of countless women who have had to push boundaries, make their voices
Beard. and redefine success on their own terms. These experiences speak to the broader
stugeles that women face, and while each of our paths is different, the need for change
eSS Us.

For far too long, women have been urged to aspire quietly, to make room for others by making
themselves smaller. It’s time to unlearn the idea that a woman’s voice is t0o loud, her ideas
100 bold, or her dreams too ambitious. Women’s empowerment is not just about individual

success; it’s about transforming society so that every person can look to the future with the

freedom to define their own path.

As we move forward, let us shed the stereotypes and commit to creating an environment where
potential is seen before prejudice, where opportunities are granted based on talent rather than
tradition. Let us be the generation that not only opens doors but leaves them wide open, so
that the next wave of women can walk through with confidence and without hesitation. The
legacy we build today will be the foundation of tomorrow’s possibilities—a world where equality
is no longer an aspiration but a given. So, to every girl with a dream, every woman who

P.T.O.




stands firm despite the odds, and every man who champions equality—together, we have

power to shape a future that honors ambition, rewards courage, and recognizes the limiths

capacity within each of us to lead, inspire, and transform.
Thank you for being the most engaging audience !
Passage 3

The ongoing struggle between environmental conservation and economic growth is one of e
most pressing dilemmas of our time. While economic advancement promises immediate
improvements in quality of life, job opportunities and infrastructure, it often comes at a significans
ecological cost. Many believe that sustainable development is a compromise, a middle ground
that can satisfy both needs. However, the evidence increasingly shows that without prioritizing
environmental conservation, we may face irreversible damage to our planet, threatening the very

foundations of human life and prosperity.

To begin with, the finite nature of earth’s resources renders continuous growth unsustainable.
Every economic system operates within the confines of the natural world, dependent on limited
resources like water, fossil fuels, forests, and minerals. The depletion of these resources threatens
not only environmental integrity but also the very economies that rely on them. Consider fossil
fuels : widely consumed for energy production, they drive industries and generate economic
growth. Yet, fossil fuels are non-renewable and heavily pollute the environment. Their ongoing
consumption causes greenhouse gas emissions, contributing to global warming and climatic
disruptions. This will ultimately impose severe costs on future generations who will face resource

- shortages and the fallout of environmental degradation.
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In addition, the environmental degradation resulting from unregulated industrialization has severe
consequences for human health, safety and quality of life. Pollution from factories, mining
activities, and automobiles has led to unprecedented levels of air and water contamination,
directly linked to health issues such as respiratory diseases, cardiovascular conditions and
cancers. For instance, research has shown that millions of premature deaths worldwide are
attributable to pollution-induced ailments. Although economic expansion promises prosperity,
the short-term gains pale in comparison to the long-term harm inflicted on communities and
societies. Conservation measures act as essential investments in public health and security,

shielding populations from the devastating outcomes of environmental neglect.

While some argue that economic growth can provide the resources necessary for environmental
protection, this perspective often underestimates the depth of environmental harm caused by
unbridled development. Industrial activities are among the highest contributors to carbon
emissions, exacerbating climate change, which has already shown its destructive potential through
extreme weather events, floods, droughts, and wildfires. Countries that prioritize rapid
industrialization ofien disregard the environmental regulations needed to mitigate such damage.
In the long run, these environmental issues may counteract economic progress as the country
faces costs associated with health crises, loss of arable land, and the need for massive

environmental rehabilitation.

Furthermore, the assumption that economic growth must come at the expense of the environment

is a fallacy that disregards the potential of sustainable innovation. With the rise of green

10
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technologies, industries have the opportunity to transition to cleaner and more efficient systems
Renewable energy sources like solar, wind, and hydropower present economically viable
alternatives to fossil fuels and produce minimal environmental impact. By prioritizing conservatios
we can foster an economy that innovates within ecological boundaries, benefiting both the plane
and its inhabitants. This approach ensures a future where economic expansion is compatible

with environmental preservation, paving the way for a balanced, resilient society.

Some critics maintain that conservation efforts, such as emission limits and protected reserves

are expensive and slow economic growth, especially in developing countries where resources

are scarce. Yet, this perspective overlooks the fact that environmental damage ultimately in

far greater costs. The expenses associated with disaster relief, healthcare for pollution-relate
diseases, and loss of biodiversity are often staggering and can heavily burden economies.
striking example of this is the economic impact of climate change on island nations facing rising
sea levels, such as the Maldives. These nations are investing in expensive adaptation an
mitigation strategies, even as their land and resources diminish. By failing to prioritize
conservation, society essentially mortgages its future, opting for short-term gains at the cos

of long-term stability and security.

In conclusion, environmental conservation must be regarded as the foundation of sustainable
economic development rather than its antagonist. The planet's resources are finite, and withos
careful stewardship, we risk depleting these essentials at an alarming rate. Conservation protect
ecosystems, sustains public health, and fosters innovation toward a cleaner economy. Embracing

a conservation-first mindset does not imply a rejection of economic progress but a recognitia
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of its inherent limitations. Sustainable development, guided by ecological principles, is not only
more viable but also ensures that future generations inherit a world they can live in and thrive.
By putting the environment before unchecked growth, we commit to a future where humanity

and nature coexist in mutual prosperity.
(748 words)
Questions :
PART A
Answer any three of the following in about 250-300 words : 3x10=30
Questions 1 and 2 are based on passage 1;
Questions 3 and 4 are based on passage 2;

Question 5 is based on Passage 3.

What internal conflict does the young artisan face regarding his heritage and personal

asperations ?

What does the artisan’s understanding of shared learning and wisdom suggest about the role
of comemumity in helping an individual grow ?

What specific challenges did the speaker encounter in her journey as a woman entrepreneur,

and how did she overcome them ?

The speaker concludes with a call for a future where gender equality is a given rather than

an aspiration. Do you find this vision achievable ? Support your view with relevant examples.

. What is the primary dilemma discussed in the passage between environmental conservation

and economic growth ?
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PART B
Answer any 3 of the following in about 300-350 words : 3x20=60
Questions 6 & 7 are based on Passage 1;
Question 8 is based on Passage 2;
Questions 9 and 10 are based on Passage 3.

Write notes on Passage 1, using headings and subheadings as well as abbreviations wherever

necessary.

Write a letter from the Artisan to his future children, sharing his journey of seeking knowledge
beyond Devgarh and the wisdom he gained. In the letter, he urges them to find a balance

between honoring tradition and embracing curiosity.

Imagine you are interviewing the entrepreneur in Passage 2 for a special feature on resilience

and empowerment. What were the transformative experiences that influenced her approach to

leadership and advocacy for gender equality ? Write 20 questions and answers.

Create a dialogue between two friends discussing the main topic of Passage 3. One friend
argues that protecting the environment is essential, while the other thinks that economic growth
should be the priority in developing areas.

(@) Summarize Passage 3 in about 300-350 words. 15
(b) Cite the following according to the correct MLA citation style : 5

(i) How would you format a citation for a chapter titled, *‘Introduction to Philosophy,”™
in an edited book titled Foundations of Philosophy, edited by Mark Green and
“published by Oxford University Press in 2019, pages 1-20 ?
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Cite a newspaper article titled, ““India’s Green Energy Revolution.” by Priya Mehta,

published in The Hindu on March 10, 2023, pagé 1.7

Format a citation for a government report titled, Climate Change Impact on
Indian Agriculture, published by the Ministry of Environment, Forest and Climate
Change in 2021.

How would you cite a journal article titled, ‘‘Digital Transformation in Indian
Education,” by Dr. Rakesh Singh, published in Indian Journal of Educational

Research, vol. 8, no. 2, in 2020, on pages 45-63 ?

Cite a newspaper article titled, ‘‘Advances in Renewable Energy,” by Lisa Ray

published in The New York Times on February 3, 2022, page A4.
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Instructions for Candidates

= Attempt any five questions.
» All questions carry equal marks.

Question 1

(a) Explain the key components of the wealth management process and evaluate how theyalign with
the financial goals of an investor across different life stages. (8 Marks)

(b) Explain difference between direct and indirect investing in detail with the help of anexample.
(10 marks)

Question 2

(a) The data given below corresponds to different states of economy .the probability of occurrence of
that state and the expected return from Security B and Market in these statesare given below:

| State Probability | Security B return (%) Market return (%) I
| Recession | 0.3 12 8 |
Normal | 0.5 18 14
Boom : 0.2 25 22 J-
Calculate:
(i) Expected return of security B
(i) Correlation coefficient between security B and Market (8 marks)

(b) Explain the Efficient Market Hypothesis (EMH) and its three forms—weak, semi-strong,and strong.
How does each form differ in terms of available information and market efficiency?
(10 marks)

Question 3

(a) Consider a portfolio consisting of two assets, Stock X and Stock Y. The following
information is provided:

» Stock X: Expected return = 20%, Standard deviation = 22%
» Stock Y: Expected return = 12%, Standard deviation = 15%

» The correlation coefficient between Stock X and Stock Y is -0.3 The portfolio
consists of 60% invested in Stock X and 40% in Stock Y.
(i) Calculate the expected return of the portfolio
(i) Calculate the portfolio risk (8 marks)

(b) Discuss the differences between fundamental analysis and technical analysis of securities.
(i) Describe the important parameters for the fundamental analysis of securities.
(ii) Evaluate various tools and strategies for technical analysis of securities.



Question 4

(a) (1) How to achieve long-term financial security and the goal of a good retirement ?
(ii) Define Compounding and Asset Diversification. Critically evaluate their impact on the financial
planning process of an individual. (8 marks)

(b) Differentiate between systematic risk and unsystematic risk for a portfolio. How to reduce
systematic risk and unsystematic risk. Can systematic risk ever be eliminated fully, Justify. (10
marks)

Question 3

(a) Explain the different stages of an investor’s life cycle. How do the investment objectivesand risk
tolerance vary across these stages? (8 Marks)

(b) Explain the structure of the asset allocation pyramid. How do the three levels (foundation,growth, and

speculative) reflect an investor’s risk tolerance and financial priorities?
(10 Marks)

Question 6

(a) Discuss the impact of inflation and taxes on investment returns. How can an investor mitigate these
effects? (8 Marks)

(b) Mr. Mohan invested Rs 50,000 in a fixed deposit scheme that provided an annual return of 8%. He
falls under a tax bracket of 20% for income tax. The inflation rate during the yearwas 5%.

(i) Calculate the Post-Tax Return on Mr. Mohan’s investment.
(i1) Calculate the Real Return on his investment after considering the inflation rate.

(10 marks)

Question 7

Write short notes on any three of the following: (3x6 = 18 Marks)

L. Estate Planning

3

. EIC Framework

. Technical indicators

lsd

4. Passive Index funds
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[This question paper contains 8 printed pages.]

Your Roll No...............
Sr. No. of Question Paper : 3150 I
Unique Paper Code 1 2274002002
Name of the Paper : Basic Development Economics
Name of the Course : Generic Elective
Semester ¢ LIV
Duration : 3 Hours Maximum Marks : 90

1 Instructions for Candidates
——===t1ons for Candidates

1. Write your Roll No. on the top immediately on receipt
of this question paper.

2. This paper consists of § questions.
3. Attempt any § questions,

4. All questions carry equal marks.

5. Use of simple calculator is allowed.

6. Answers may be written either in English or Hindi;
but the same medium should be used throughout the

paper.
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Explain the concept of Human Development Index
(HDI) z;nd its key components that illustrate the
multidimensional approach of development. Does it
serve as a better indicator of development than per

capita income? (18)
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(a) Describe the structural features of the developing

countries, (14)

(b) Poor countries have an advantage as latecomer
compared to their richer counterparts in the global

context. Explain. 4)
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3. (a) What do you understand by the term poverty line (b) The income distribution of two societies A and B
and what are the conceptual issues involved in its with three individuals are as follows: A (3, 12, 15)
estimation? (9) and B (4, 9, 17). Draw the Lorenz curves.

Compare and explain extent of income inequality
(b) There is an intimate connection between poverty

differences between two income distributions.
and undernutrition. Explain. (9)

)
(%) TR T W X W F TR P IR TR IweT
Feafofas & I ¥ 3R Iwged w R FA
# = dmie w2 wie 27
(%) afe ver smenga e =AfF sNEHa R AfFd ot

A BEGRT & B, A dEd Fw ffees s

(@) TR sk FUwT & € vE AT "Iy B R

HifeTe)
el gl

4. Answer the following and give suitable reasons : (@) d afeaal a2 g A 3R B @ 3 e 9

: : TER B: A (3, 12, 15) 3R B (4, 9, 17)1 AR TH
(a) If a relatively poor person transfers income to a

Y1 2 I Aol & 9 3 FGEHAr AR @ e

relatively rich person, the mean absolute deviation

AT Y SR G|

always increases. 9)

P.T.O.
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5.  (a) What do you understand by natura] capital? What
is its significance in the context of Sustainable

development? (4)

(b) What are the possible reasons for global community
to choose a positive discount rate for their future

benefits? (4)

(c) Briefly explain the five steps involved in the

measurement of sustainable development.

(10)

() mwmg%mi@i&mmwwﬁﬁ?amwﬁmmE%mﬁ
H T T Ee 27

@ﬂ‘%hmwmawmwaw%wﬁmf%aﬁh%ﬁwammmm
LR T D e wror o 3

() amfﬁmmE%qm?ﬁFmﬁﬁtﬁraﬁﬁaﬁaaqﬁ
AR FHifo1g)
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6.

What are the claims in favour of capability approach
to poverty? Do you agree that the capability approach
enhances the understanding of the nature and causes

of poverty. Explain. (18)

mﬁiéf%zamng&m%r%tmrﬁzmraéﬁ?anmv

Explain the various strategies that may be adopted by
the developing countries in relation to thejr participation
in the global €conomy, given the challenges faced by

them. (18)

ﬁhmwMT&ﬁz%awasm%mﬁrgﬁ%ﬁaﬁ%a%gvaﬁaﬁ
aﬁwmwrﬁa?%Tmﬁmﬁé#@ﬂzﬁamm%aﬂamﬁzmh
ﬁﬁm¢wﬁﬁﬁ¥%¥amwr%ﬁwr

How does globalization affect the poor in their roles
as self-employed, wage workers and users of public

service & common resources? Discuss. (18)

P.T.O.
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